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Question Number : 1 Question Id : 630680220939 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 2023, for which documentary did India receive an Oscar?
Options :

1. #® Haulout

2. ¥ The Elephant Whisperers

3. # Stanger At The Gate

4. # The Quiet Girl

Question Number : 1 Question Id : 630680220939 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20236, 2rEHTF0 & THSV0EIEE e ), 5% 0cNH0E?
Options :

1. # 5SS

2. ¥ & OO DIHBD)

3. % | Qozd e & 1S

4. % &35 480
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Question Number : 2 Question Id : 630680220940 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the full form of FATF?
Options :

1. % Financial Action Task Force

2. # Foreign Assets Tracking Fund

3. # Federal Anti-Terrorism Force

4. # Fiscal Accountability and Transparency Foundation

Question Number : 2 Question Id : 630680220940 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FATF 3308} DB S0 a)ade3?

Options :

1. ¢ DIQ0NO ASPES ErRy &0 (Financial Action Task Force)

2. % PO @) (67800 HO& (Foreign Assets Tracking Fund)

3. % BSS asroed B(B8230 D)) (Federal Anti-Terrorism Force)

4. % DS ©T00DOES 0ok ETS))BRY) DOTAS (Fiscal Accountability and Transparency Foundation)

Question Number : 3 Question Id : 630680220941 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which United Nations Commission was India re-elected after a gap of two decades in April 2023?
Options :

1. ¥ UN Statistical Commission

2. # UN Commission on Human Rights

3. % UN Commission on International Trade Law

4. # UN Commission on The Status of Women

Question Number : 3 Question Id : 630680220941 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BO BF°eTe JTNO0 ST 5ed (DS 202365, 0850723500 TZNEY & EMASS' erES$T$0 SO D) T0E?
Options :

1. ¥ UN °¢308S 8028

2. % UN QA &8 U500 B

3. % UN E0AS &8s 203) A3 Bo& e»

4. % UN EQ0AS 88 & QO &89 &S

Question Number : 4 Question Id : 630680220942 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which option correctly matches the following pairs?
A) NATO - North American Treaty Organisation

B) IMF - International Monetary Fund

C) APEC - Atlantic Pacific Economic Cooperation
D) WTO - World Trade Organisation

Options :

1.% Aand C
2. % Band C
3.% Aand D
4. Band D

Question Number : 4 Question Id : 630680220942 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
@ DODE 80O OB 235D ArDP0L?
A) NATO - 5°0 985S (¢3¢3 39 SBAS
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B) IMF — R033) Q3 S5520¢28 Ho&
C) APEC - @¢30¢38 HJDT D8 S SesHBAS
D) WTO — 389 (& eEIBAS
Options :
1. % A B C
2. % Bdaw €
3. % A N80 D
4. % B B8AM D

Question Number : 5 Question Id : 630680220943 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the first woman to orbit the moon in the Orion spacecraft, launched by NASA?
Options :

1. # Sally Ride

2. % Christina Koch

3. ® Jessica Meir

4. % Anna Kikina

Question Number : 5 Question Id : 630680220943 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NASA (D5 2,800 0088 FES” 500 855 BBAS T0cse3 037 D ANe3?
Options :

1. % 3O3&

2. ¢ 8 §&8

3. % Z)I5° A

4. % o) 88

Question Number : 6 Question Id : 630680220944 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Who won the golden boot in FIFA 2022?
Options :

1. # Lionel Messi

2. % Alvaro Martinez

3. #® Antoinne Greizmann

4. ¥ Kylian Mbappe

Question Number : 6 Question Id : 630680220944 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FIFA 202265 FSS 20°¢0) BentHES) E eS&0?
Options :

1. % IO D

2. % eer 8 SrdTeS

3. % 306500 (A

4. ¢ 3OO0DS QA7) D

Question Number : 7 Question Id : 630680220945 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following terms to their appropriate categories:

A) Birds Eye Chilli i) Karnataka

B) Purple Fest ii) Thai Chilli

C) Zero Budget Natural Farming iii) Millets Giveaway
D) Small Farmers® Agri-Business Consortium | iv) Goa
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Options :
1. % A-ii, B-iv, C-i, D-iii
2. # A-iv, B-ii, C-iii, D-i
3. #® A-iii, B-i, C-ii, D-iv
4. ® A-i, B-iii, C-iv, D-ii

Question Number : 7 Question Id : 630680220945 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 DO O B0 HTOF BSDOSOA.

A 28y D DY i) sgeeos

B) 060385 DY ii) grai> OB

0) 35 &6 F5AS O oDo iil) 8 TrErge 2RSS
D) R S°0 DE0R JDFOR- TS QIR | V) Hae

Options :

1. ¥ A-ii, B-iv, C-i, D-iii
2. # A-iv, B-ii, C-iii, D-i
3. #® Adiii, B-i, C-ii, D-iv
4. # A-i, B-iii, C-iv, D-ii

Question Number : 8 Question Id : 630680220946 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which initiative offers high-quality educational material via DTH channels throughout India?
Options :

1. # Shodhganga

2. ® Virtual labs

3. ¥ SWAYAM Prabha

4. ® e-Yantra

Question Number : 8 Question Id : 630680220946 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rGHTI0 ©0e5Er DTH 7O T° S0° @9OE-T°E S 0 DE3°S 0200 RPd(AQ 00BN (730285 €398 &?
Options :

1. % §%om

2. % 380)SS ergeS )y

3. % SWAYAM (029

4. % -adol

Question Number : 9 Question Id : 630680220947 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the objective of the WEST initiative under the i-STEM program?
Options :

1. #¥ To promote the welfare of women in the health sector

2. ¥ Empowering women to contribute in science, technology and innovation
3. # To promote women-based startups

4. # Empowering women artisans from the rural areas

Question Number : 9 Question Id : 630680220947 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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i-STEM 5°65855°Q), WEST (2P 30D0@8 6ed &350 aoe3?
Options :
1. % &8s 3050 05r$e> H0T.ST), (86 )or0Ico
2. % DTS TR0, FOTBES HOA5N S35 @3N B eI OAOITAE DeFFOR PO EeS §O Y0r5cho
3. % 0309 e3506b (75025 ST O (YD) (6 Jr0tIB0
4. % (P60 [0S D SPT® SFQETTEROE FOSES EO 0TI

Question Number : 10 Question Id : 630680220948 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which organization is responsible for maintaining the International Liquid Mirror Telescope (ILMT) located at Devasthal Observatory?
Options :

1. % Aryabhata Research Institute of Observational Sciences

2. # Indian Council of Medical Research (ICMR)

3. # Indian Space Research Organization (ISRO)

4. # Council of Scientific and Industrial Research

Question Number : 10 Question Id : 630680220948 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BIXS 0B £e8S° 20&BLASS O 5& MISE WO D (ILMT) S 580 & DO 23CI5eh 9P NOE?
Options :

1. ¥ €88525) 815 9 ).E05°5ES 68D DT §AISO DRYD

2. % 278eh 33§ HOTS 0O (ROBOHA TS e3P DAES 85 )-ICMR)

3. % 2805 ©08E. HBTRT HoR (V)

4. % ) &9 20318 @0& R0G(VAHS 86)

Question Number : 11 Question Id : 630680220949 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the age group targeted for polio vaccination in India?
Options :

1. # 5-10

2.9 0-5

3. % 10-15

4. % 15-20

Question Number : 11 Question Id : 630680220949 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PSESTIOS’ &) STBFSPO FO8 FOTI THEF D JS?
Options :

1. % 5-10

2.9 0-5

3. % 10-15

4. % 15-20

Question Number : 12 Question Id : 630680220950 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Under the Child Labour (Prohibition & Regulation) Amendment Act of 2016, which age group is prohibited to work in hazardous
occupations and processes?

Options :

1. # Children below 14 years

2. ¥ Adolescents between 14-18 years
3. # Children below 18 years

4. # Adolescents above 18 years
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Question Number : 12 Question Id : 630680220950 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

237 52825060 (D20 BB AAHO(e5€a) DeIBED TIELO 2016 ISB0, [STEIES X9e8en HOAW (HEAHOES H
DOHEA8 & ITTNIF0 O D H0TR?

Options :

1. % 14 305¢5 )07 E0T) 880963 830N Hed DO

2. ¥ 14-18 5055 )07 05 AS0EHAD0Y e

3. % 18 D055 )T 0T 9800 AN e DN

4. % 18 D 20O AwaIBoen

Question Number : 13 Question Id : 630680220951 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the meaning of the plus sign (+) in the term LGBTQ+?
Options :

1. # A symbol of love and support

2. # A secret code for the LGBTQ+ community

3. % Other sexual and gender identities not included in the acronym

4. % A placeholder for future identities that may emerge

Question Number : 13 Question Id : 630680220951 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LGBTQ+ & H0SQ QR &) (+) BBy 980 Doe3?

Options :

1. % 7220 08350 08¢k BBy D)0

2. % LGBTQ+ Q000 TBwg), 8508 §&

3. % D08 DHSSNES” T3 )28 2SS BohE OSSN Aot HBoen
4. % &5)D0T NS HO0H® FBEL e 28 RVWDD

Question Number : 14 Question Id : 630680220952 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the followings statements.

A) Central Victim Compensation Fund was launched in the year 2020

B) The objective of the scheme is to provide financial support to the victims of Covid-19
Which of the above statement(s) is/are correct?

Options :

1. ¥ A only

2. % Bonly

3. % Both A and B
4. ¥ Neither A nor B

Question Number : 14 Question Id : 630680220952 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5 NDBS0&.

A) BOLCS 2B DBIFS A, 2020 &5 D055 IS0’ [BFPB0D0TIDEOE

B) §0&-19 27O 050 @388 HIFAN0 00B0TIG &t HHE0 W) ©F 50
20 85550 () DE/D DBSE/N?

Options :

1. % A Sr(edad

2. % B X5

3. % A B0 B e Bocsky

4.9 A5 B B 5 O 550

Question Number : 15 Question Id : 630680220953 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a negative impact of technology on the environment?
Options :

1. # The implementation of recycling programs

2. ® The conservation of natural habitats

3. % The increased use of fossil fuels

4. # The development of renewable energy sources

Question Number : 15 Question Id : 630680220953 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 3¢3° HTP55BE90 POTBEH TBE), (DBEFE (2PTE S Sed IE?
Options :

1. % 8800 5285855 e9sden

2. % J5° S D088

3. ¢ DOAL 3B 0T DIIZ*HO

4. % HIKT® Y8 RO SO 9Dy Q

Question Number : 16 Question Id : 630680220954 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of the negative impact of technology on public health that is difficult to predict?
Options :

1. # The use of social media to promote healthy behaviours

2. # The use of artificial intelligence to diagnose diseases

3. ¥ The long-term effects of exposure to radiation from electronic devices

4. # The development of wearable devices to monitor health

Question Number : 16 Question Id : 630680220954 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

§o&(§°e§c§5 19230 eBK502) SN0 ErSroIERE ERDS JP0THEH B (DBETE (Herards &S
AEI?

Options :

1. % 000 DI (8565 )00 P00 (DS $33°¢ 5300 €5 dTIPA0TIB0

2. % 325600 ATTOORETE &30 30 & DB3IrNOHC0

3. ¥ dOTAE HBET® DO HT3)) BATIASE H85°5¢0 SO EOT HEOE (Heraren

4. % S8 DB5§I8.0c8 B80S B> HBET D @NIHQ

Question Number : 17 Question Id : 630680220955 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the taxonomic categories in a descending order depending upon their relative dimensions.
A) Genus

B) Species

C) Class

D) Kingdom

E) Family

F) Phylum

G) Order

Options :

1. # E-D-B-G-A-C-F
2. ¥ D-F-C-G-E-A-B
3. # B-D-F-G-A-C-E
4. # C-F-A-G-D-B-E

Question Number : 17 Question Id : 630680220955 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1B0& H508Se ST 3°¢3 D020 HBXFETED ¢ ST T (5065 @08 0.
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A) |D2een
B) 23*¢%en
C) 53053
D) ©re350
E) $0€n02)0
F) 5%0
G) (8o
Options :
1. ¥ E-D-B-G-A-C-F
2. % D-F-C-G-E-A-B
3. ¥ B-D-F-G-A-C-E
4. ¥ C-F-A-G-D-B-E

Question Number : 18 Question Id : 630680220956 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following respiratory organs in the correct order from top to bottom in the body.
A) Trachea

B) Larynx

C) Lungs

D) Pharynx

E) Bronchi

F) Nasal Passage

Options :

1. ¥ F-A-E-D-B-C
2. % C-F-B-D-A-E
3. ¥ F-D-B-A-E-C
4. % C-D-B-A-E-F

Question Number : 18 Question Id : 630680220956 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8005 RS 5AN T4 99aNHTOK F8B06 @9 GOT 2 DHOA (808 E0S @38 )0S
A) B S0

B) 5870¢3%

C) &8N

D) (5008

E) 350 $F° DN

F) O°QS°r S0P

Options :

1. ® F-A-E-D-B-C

2. ® C-F-B-D-A-E

3. ¢ F-D-B-A-E-C

4. ® C-D-B-A-E-F

Question Number : 19 Question Id : 630680220957 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which monosaccharides contains four carbon atoms?
Options :

1. ¥ Tetroses

2. # Pentoses

3. ¥ Triose

4. # Heptose

Question Number : 19 Question Id : 630680220957 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Q ST EDTEEN °eNH 5°5)Q HDESTENHO EOR G0EFoN?
Options :
1. ¥ BEDD
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2. % 0V
3. % (OO0
4. % PR

Question Number : 20 Question Id : 630680220958 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct pair of disease and the affected organ:
A) Pnuemonia : Lungs

B) Trachoma : Intestine

C) Diarrhoea : Urinary path

D) Sleeping sickness : Brain

Options :

1.¥ Aand D

2.% A,Band D

3.% Aand C

4. % A, CandD

Question Number : 20 Question Id : 630680220958 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
75 08O (D27ed XN DT 23650 DOTHTOR:
A) Q§RTAOS®: e dededyen

B) (¢80 "0

C) @&3B0: (e 33P0

D) Q&S 2322)): ¢

Options :

1. % A 0805 D

2. % A, B o083 D

3. % A8 C

4. % A, COAWD

Question Number : 21 Question Id : 630680220959 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are how many types of ecological pyramids?
Options :

1. # Five

2. % Three

3. % Two

4. # Six

Question Number : 21 Question Id : 630680220959 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D), B35 DTG DBDEEN ) ON?
Options :

1. % 2

2. ¥ e

3. % Boch

4. % &%

Question Number : 22 Question Id : 630680220960 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the type of fermentation that takes place during the process of bread rising?
Options :

1. # Lactic Acid Fermentation

2. ® Acetic acid Fermentation
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3. % Alcohol Fermentation

4. # Butyric acid Fermentation

Question Number : 22 Question Id : 630680220960 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(& 320N (DEHES’ & S50 869§ D8O 23BMHEB0E?
Options :

1. % ¢85 e300 869 5 (D8O

2. % JE38 e300 89 ¢ (D18

3. ¢ 8L 85 (D8AH

4. % 2055¢305 e300 869 5 (DBADH

Question Number : 23 Question Id : 630680220961 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to the Indian seismic zone map, Delhi falls under which seismic zone?
Options :

1. ¥ ZONE II

2. % ZONE V

3. % ZONE III

4. ¥ ZONE IV

Question Number : 23 Question Id : 630680220961 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

275 750D E e HE0 (HTE0, BO & BrE0d T HBOSE SNOH?
Options :

1. % 3|50 I

2. % B0V

3. % Z (01

4. ¢ 301V

Question Number : 24 Question Id : 630680220962 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements.

A) IFLOWS stands for Integrated flood warning system

B) It is a joint initiative between the Ministry of Earth Sciences (MoES) and Brihanmumbai Municipal Corporation (BMC)
Which of the above statement(s) is/are correct?

Options :

1. ¥ A only

2. % Bonly

3. % Both A and B
4. % Neither A nor B

Question Number : 24 Question Id : 630680220962 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5D VNS0,

A) IFLOWS @0 e 385> 33°¢5 )08 635638

B) @& ZDJ&)L?Q &9 I8 DTYDV (MOES) 08350 2987 330023 30 INS 52T YBAS (BMC) 08§ €502 OSdeh) 0
2 DEEINDEIOES’ DE/AD DBSE/DBI?

Options :

1. ¥ A S3°(¢hadd

2. % B X005

3. % A B B o0 Bockw

4. % A5 S B 5 D& 50
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Question Number : 25 Question Id : 630680220963 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the name of the GIS platform created by ISRO to aid in disaster management services?
Options :

1. ¥ Bhuvan

2. % ArcGIS

3. ¥ QGIS

4. # Google Earth

Question Number : 25 Question Id : 630680220963 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DHBY S $57°60 WIS DIFANNBEFIE A EPFOBODS GIS eSS D AE3?
Options :

B GEAVNIN

2. % ArcGIS

3. % QGIS

4. % 1S 0

Question Number : 26 Question Id : 630680220964 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which government agency is responsible for implementing the air pollution control measures in India?
Options :

1. # Ministry of Environment, Forest and Climate Change

2. # National Green Tribunal

3. # Central Ground Water Authority

4. ¢ Central Pollution Control Board

Question Number : 26 Question Id : 630680220964 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 BHTBF0S O 50N S DOVOLHED TIBFD €950 TONEO & (2925065 § HOW 23°¢I§eH?
Options :

1. % 50755869, €938 088N T&IBED $3°¢0.) O3¢5 ¢ F°D

2. % 2305 O (32055

3. % 308 &riid) 830 HoQ

4. % 30(¢S 5PeNNS AONO(ehed HORE)

Question Number : 27 Question Id : 630680220965 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With which type of pollution is eutrophication associated?
Options :

1. # Air pollution

2. % Water pollution

3. # Noise pollution

4. # Light pollution

Question Number : 27 Question Id : 630680220965 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT’ DIAS & EERNS 57eL5IE H00HODIE?
Options :

1. % O sPenN S0

2. ¢ Qe 50N 50
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3. % 32 320050
4. % 32083 PeNNF0

Question Number : 28 Question Id : 630680220966 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are true regarding the greenhouse effect and greenhouse gases?

A) Water vapour is a greenhouse gas in the earth's atmosphere

B) Greenhouse effect is caused by the absorption of short-wave infrared radiation

C) Cfc's, Hfc's are the few examples of Greenhouse gases

D) Burning fossil fuels, cutting down forests and farming livestock adds enormous amount of GHG's in the atmosphere leading to
increased global warming

Options :

1.% A Band D
2. % Band C

3.% A, Cand D
4. % Cand D

Question Number : 28 Question Id : 630680220966 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B80T (27730 BN TPBHKeeT TONYE D000 80 & 785300/ DB IE/OBSN?
A) D3 DB T B FTIBDOS Q) BT O

B) DT N8B @30 HSOMPORD (PONIB0 e TP KNeT (D270 DB )EB0E

C) Cfcen, HfceX s8&55)s3° aANa)30 Q) Srrdeaen

D) 3e723 RO DOG0TIH0, @YD SOESONCH0 DBTIW W0 HHNOICH TESBe0S 8 e
B0 GHGO @0BN0E, A 255 ard) DOV

Options :

1. % A B8 D

2. % B8 C

3.9 A, C 83D

4. % C0B8AND

Question Number : 29 Question Id : 630680220967 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which region is most impacted by ozone depletion?
Options :

1. % Antarctica

2. % Arctic

3. # Equator

4. # Tropic

Question Number : 29 Question Id : 630680220967 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

585°S § 8965 5O & (FOHO DI (H2FDHDYS0E?
Options :

1. ¢ @08 ¢35

2. % e38).¢38

3. % recisB

4. % & D00

Question Number : 30 Question Id : 630680220968 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What are the long-term effects of deforestation?
Options :

1. # Soil fertility improvement
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2.+ Soil erosion
3. ® Increased water availability

4. # TIncreased rainfall

Question Number : 30 Question Id : 630680220968 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

@68 QBT OGS ABIT AFFOE DT e DES?
Options :

1. # 250G DBERIE0L

2. ¢ JoFe

3. % De3 @255 0BM0B0

4. % 38750 SN0

Question Number : 31 Question Id : 630680220969 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the primary mechanism responsible for the depletion of ozone in the atmosphere?

Options :

1. ¥ When chlorine and bromine atoms come into contact with ozone in the stratosphere, they destroy ozone molecules
2. # Infrared radiation reacts with ozone to form water vapor

3. % Oxygen molecules react with ozone to form ozone-depleting substances

4. ® Ozone reacts with water vapor to form oxygen molecules

Question Number : 31 Question Id : 630680220969 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T30S’ 'S § L9550 BTN (FHWE OHOEFOH0 DE?

Options :

1. ¢ 88 08050 (7S DBXTEDHEN (¢S’ @355¢3°Q 8,850 T8I I, 9 &' 9eNHO T*IN0 TP ow
2. % 5075060 8B 48RS 0985 2369 D3 SAB DB B ON

3. % @38)238 09N LETS 55 236 4,5 S-§ 30T DT DS YO0

4. % D3OS 8,5 385 26 6381238 @)D DEIBNOE

Question Number : 32 Question Id : 630680220970 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following place of India is/are correctly matched with the weather condition?
A) Highest rainfall : Mawsynram

B) Hottest place : Jaipur

C) Coldest place : Dras

D) Lowest point : Kuttanad

Options :

1.% B,Cand D
2.% A, Cand D
3.% A,Band C
4. % A BandD

Question Number : 32 Question Id : 630680220970 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2ESTIOS' 80O & (BF0S0 TR TEPIBE IBVHOS DB 2B3HNBTIDB0E?
A) @558 JBI°B0 : SFTANTo0

B) 3& (03%0 : 2y°0

C) IO (DTF0 : |0

D) 23 e380%) (808 T°N0 : SoOT&

Options :

1. ¥ B,C HOAWD

2. A, C B D
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3. % A, B C
4. % A B8AWD

Question Number : 33 Question Id : 630680220971 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A) Iron is the most abundant element in the Earth's crust/mantle
B) Hydrogen is the most abundant element in the universe
Which of the above statement(s) is/are true?

Options :

1. # A only

2. ¥ Bonly

3. % Both A and B
4. ® Neither A nor B

Question Number : 33 Question Id : 630680220971 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 55 508!

A) B3P TNEY BP0/ ST 95508 HeDYOT GOT IFOE0 VIS0
B) D3 50" 9655065 DoA™ GOT o0 IXERS

2 85500/ JE/D Des0?

Options :

1. % A S>(¢hadd

2. ¥ B 3o

3. % A 080 B 3oy

4. % A5 BB 5RO 520

Question Number : 34 Question Id : 630680220972 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the glacier features and landforms.

A) U shaped valley | i) A narrow, deep inlet of the sea

B) Cirque ii) A bowl-shaped depression at the glacier head

C) Moraine iii) Broad, flat bottomed and steep sided

D) Fiord iv) Sediments transported and deposited by glacier
Options :

1. # A-i, B-iv, C-ii, D-iii
2. % A-i, B-iv, C-iii, D-ii
3. # A-iii, B-iv, C-ii, D-i
4. & A-iii, B-ii, C-iv, D-i

Question Number : 34 Question Id : 630680220972 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FATDDG OEEFLD SOOI ZPLTTFOM) REDCS0E.

A) U es5768y) S°omd i) Page S°HY AMID, S°BD YOITE(Go

B) &y if) BP0 PO IOYE 28 AR ISORY ATocsfo

0) 3PP &0ys i) DesenyTP, SR eIDDETIOE DA €000

D) @@dEa0°a DANEG T | V) BPArANG0 TR(OT Carer So0ED 0801 2630 D00 edEdren

Options :
1. ¥ A-i, B-iv, C-ii, D-iii
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2. ® A-i, B-iv, C-iii, D-ii
3. ® A-iii, B-iv, C-ii, D-i
4. % A-iii, B-ii, C-iv, D-i

Question Number : 35 Question Id : 630680220973 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following river is correctly paired with their place of origin?
A) Jhelum : Gomukh

B) Kaveri : Verinag

C) Ganga : Brahmagiri Hills

D) Krishna : Mahabaleshwar

Options :

1. ® Bonly

2. % D only

3.% Aand D

4. ® CandD

Question Number : 35 Question Id : 630680220973 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 3¢3S" O S @& HES (NTI0S HOT 2365 T2
A) 200 : S0

B) 5°38 : 38=°h

C) 1508 : (2037208 Socsen

D) £ : IF0SF 80

Options :

1. % B 3r(edadd

2.9 D S°(¢had

3. % A B3 D

4. % CBAN D

Question Number : 36 Question Id : 630680220974 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the states in decreasing order of literacy rate (2011)
A) Maharashtra

B) Kerala

C) Gujarat

D) Bihar

Options :

1. ¥ D-C-A-B

2. % D-A-C-B

3. % B-A-C-D

4. % B-C-A-D

Question Number : 36 Question Id : 630680220974 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
€08 T°5¢5 BEw (2011) 577 (5006 T PO @8 Jod
A) ST

B) 388

C) Hh230°e

D) DHE

Options :

1. # D-C-A-B

2. % D-A-C-B

3. % B-A-C-D

4. ® B-C-A-D
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Question Number : 37 Question Id : 630680220975 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With which of the following is head count ratio is related?
Options :
1. ¥ Poverty
2. # Unemployment
3. # Demographics
4. ® Caste

Question Number : 37 Question Id : 630680220975 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e 56 AN (3G TS TATZ®) &2 (80 T H0D0HODIE?
Options :

1. ¢ 25880

2. % D&Es0

3. % 2330097°50020085

4. % 5000

Question Number : 38 Question Id : 630680220976 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct pair of the state/UT with the dominant religion in that region (2011 Census)?
A) Gujarat : Jainism

B) Meghalaya : Buddhism

C) Lakshadweep : Islam

D) Kerala : Hinduism

Options :

1. ® Band D
2. % Aand C
3.% Aand B
4.4 Cand D

Question Number : 38 Question Id : 630680220976 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
1BO& T RO/UT BN €8 (FOHOS ™ (2011 372> SEye0) BQNSS 0T OB 2365 DE?
A) BTG : BADS0

B) 3008 : 230050

C) ©3 85D : avro

D) 388 : 70 050

Options :

1. % BB D

2. % A8a%w C

3. % A 80 B

4. % C HB8AN D

Question Number : 39 Question Id : 630680220977 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements and select the correct statements.

A) Seasonal unemployment is a temporary work during certain time of the year

B) Cyclic unemployment reflects gap between someone voluntarily leaving a job and finding another
C) Frictional unemployment is caused by changes in business cycles

D) Structural unemployment is caused by mismatch between skills required and skills demand

Options :

1. % Aand C
2.% Aand D
3.% Band D
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4. % Band C

Question Number : 39 Question Id : 630680220977 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5750 I, DTN 575 DOTHTOR.

A) 505531306 DB HNOHOS &), OF HA SN AXE K0 0 e0rSd

B) O 5900 &5, AN NE &S &S P08 ¢S Be @0t tHIEADH ABESHO e
0>

C) 35S BSOS S350)0 SO 080 ABIESHO DSBS

D) @S0GRS BT OO 5588 K> BYET5ed ¢35 @D0B0e§eh B0 Tea°¢98 ASESKO
INTO RN Mot

Options :

1. % A B C

2. A 83w D

3. % BO8Aw D

4. % B HOAW C

Question Number : 40 Question Id : 630680220978 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which country is associated with the Miyawaki method of afforestation, recently adopted by the Telangana government to grow urban
forests?

Options :

1. ¥ Japan

2. ® India

3. # China

4. ® South Korea

Question Number : 40 Question Id : 630680220978 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D €959 DOTOCHE BEOPED (26 50 B33 @ HIBONS AIFTE ©¢1d) 20NE IR O B8
TOAIE?

Options :

1. ¢ 8

2. % 235380

3. % 3Jo°

4. % A58 e 805

Question Number : 41 Question Id : 630680220979 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following industries in the chronological order of the establishment.
A) Iron, Jharkhand

B) Jute, Kolkata

C) Sugar, Pratappur

D) Cement, Porbandar

Options :

1. ¥ D-C-B-A
2. ® B-A-C-D
3. ¥ B-C-D-A
4. ®# C-A-B-D

Question Number : 41 Question Id : 630680220979 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

€3 IS 5OZIPRB0M 808 HBFeD @908 0H
A) AW, Qo0&

B) 230738, S §e
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C) 938, (D)0
D) AJD0LW, )b
Options :
1. ¥ D-C-B-A
2. % B-A-C-D
3. B-C-D-A
4. % C-A-B-D

Question Number : 42 Question Id : 630680220980 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which four cities are connected by the Golden Quadrilateral network of highways in India?
Options :

1. # Delhi, Nagpur, Hyderabad, Kanyakumari

2. # Ahmedabad, Mumbai, Mangalore, Chennai

3. # Patna, Kolkata, Imphal, Chur Chandrapur

4. % Delhi, Mumbai, Chennai, and Kolkata

Question Number : 42 Question Id : 630680220980 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PESTIOST STTTE 20T eS80 (FBS I ATBLSS SEXE), e 3T) T° LT &) e Soren
Een)T®) 0w?

Options :

1. ® cf’aei), N0, AT, E°s3038

2. % @578, SN0, SDONETN, TS,

3. % ey, S8, R0, T08 o3y D

4. &0, 3008, T, 6w FSse

Question Number : 43 Question Id : 630680220981 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which statements are correct regarding the Directive Principles of State Policy in the Indian Constitution?
A) The Directive Principles of the State Policy (DPSP) was borrowed from the Irish constitution

B) Part 3 of the Indian constitution constitutes all the DPSP

C) The Directive Principles of State Policy are justifiable in nature

D) DPSPs are placed after the fundamental rights in the constitution

Options :

1. ¥ Band C
2.% Aand D
3. B,Cand D
4. % A,BandD

Question Number : 43 Question Id : 630680220981 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 0725080 TR DTS ABFE @1 Ho0A0D 808 O TS50 DB I?
A) TR DETS0 TB0E), T3S O (@en (BBES (DAINS) D & E FO1-DPSP) 08 0725050 0B
BFDEOA

B) 575¢ 0725080 Do 3 ¢ @) DPSP) & )STIF0N

C) Tl DG AVFE Sel@een A 20 BN sOID

D) 072508063 Q) [BIRNE 578050 TP §¢h DPSPEX) &) daddheon

Options :

1. ® B8 C

2.9 A 83w D

3. % B,C0OAWD

4. % A, BB D

Question Number : 44 Question Id : 630680220982 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Read the following statements:

A) Initially, the Indian constitution did not include fundamental duties

B) To defend the country and render national service is one of the fundamental duties
Which of the given statement(s) is/are true regarding the fundamental duties?

Options :

1. ¥ Aonly

2. % Bonly

3. % Both A and B
4. ® Neither A nor B

Question Number : 44 Question Id : 630680220982 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

808 7575 508!

A) BSE 2786 07235060 (OE DENO TEIBED

B) B33°Q) 380550 8050 T3 D3 @90B0B0 [PHNE DS 2,863,
P E DENOZ HODOEOD ADIS (HEEIOE” I/ SBSE/D?
Options :

1. % A S>(¢hadd

2. % B 3r|edad

3. % A D80 B 3oy

4. % A5 B B 5 A 57D

Question Number : 45 Question Id : 630680220983 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following matches the fundamental rights with the corresponding article of the Indian Constitution?

A) Untouchability i) Article 21

B) Right to education ii) Article 14

C) Freedom of speech and expression | iii) Article 17

D) Equality before law iv) Article 19
Options :

1. # A-i, B-iv, C-iii, D-ii
2. % A-iv, B-ii, C-i, D-iii
3. # A-ii, B-i, C-iv, D-iii
4. ¥ A-iii, B-i, C-iv, D-ii

Question Number : 45 Question Id : 630680220983 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 o7edeS" FrPEDOS TP eD DBOIL TPOB TraFjoriod” TS VoMM BSPSS Mg, VDD 2 A7

A) e90LT° D0 i) 58565 21

B) KJC}"?SB'}"SJE}_ i) E‘_‘JQSEE 14

(&) .B"SJ?J s000ID 2P DS J’SC’SJ’I) iii) BQSS 17

D) €360 @00 DATHBEY) TPE),; iv) P_?QSE_S 19
Options :

1. ¥ A-i, B-iv, C-iii, D-ii
2. #® A-iv, B-ii, C-i, D-iii
3. # A-ii, B-i, C-iv, D-iii
4. % A-iii, B-i, C-iv, D-ii
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Question Number : 46 Question Id : 630680220984 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding Indian citizenship and constitutional provisions is/are true?

A) In India, both citizens by birth and naturalization are eligible for the office of the President

B) Articles 12 to 35 of constitution deals with citizenship

C) The rights under Articles 15, 16, 19, 29, and 30 are granted exclusively to citizens of India and not to aliens
D) Indian citizenship falls under Part I of the Indian Constitution

Options :

1.¥ Aand C
2. % Band D
3.% Aand D
4. % Band C

Question Number : 46 Question Id : 630680220984 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2055 PSS S0 HBASN T°20H D220 HOROAOD &t 80 (DELISOES” DE/DN J230?
A) 2rESTHOS, 3 LB0%0 HIT2EBED D Se ABYET T AN DS eBen

B) 72350605 Q) 985S 12 00G 35 SEE0 DB H020E0DID

C) &85 15, 16, 19, 29, 8051 30 & K $750560 |DBEOTT 2SS TS D EOI0 57|50 R SO sHBASN
DTIANDOEL 5°¢H

D) 2384 OO §0 238 ¢b U"c?go(ﬂoéﬁ(“b 2rB0 T 8080 S Hod

Options :

1. % A 0835w C

2. % BOBAWD

3. % AN8A» D

4. % B8 C

Question Number : 47 Question Id : 630680220985 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the Indian presidents in chronological order based on their appointment.
A) Shri Ram Nath Kovind

B) Dr. Rajendra Prasad

C) Smt. Pratibha Patil

D) Dr. A. P. J. Abdul Kalam

Options :

1. ¥ B-C-A-D
2. % B-D-C-A
3. % D-B-A-C
4. % D-B-C-A

Question Number : 47 Question Id : 630680220985 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
285 T QD 70 AASTDE0 SHPSOM 5P| EdTNBOMT €908 )0,
A) 1B O & §08

B) &*§0 T°B0|& D&

C) (B0 (D32> ¢3S

D) &80 A. P. J. @20 ¥ero
Options :

1. # B-C-A-D

2. % B-D-C-A

3. % D-B-A-C

4. % D-B-C-A

Question Number : 48 Question Id : 630680220986 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which statement(s) is/are accurate out of the following?
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A) The Chief Justice of India is appointed by the President

B) The high court serves as a protector and guarantor of the fundamental rights
Options :

1. ¥ A only

2. ®% Bonly

3. # Both A and B

4. # Neither A nor B

Question Number : 48 Question Id : 630680220986 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 & (DEEIS(EN) DD NS IN?

A) 27865 (DG°S R°5000°8 T°(Qded QOB

B) (7008 $7805© 380880 08050 PP ENT (DG D000 DATROE
Options :

1. ¥ A S>°(¢hadd

2. % B (5

3. % A 080 B 3oy

4. % A5 BB 5RO 520

Question Number : 49 Question Id : 630680220987 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
A) The President is a member of either house of the Parliament but does not participate in the proceedings of the Parliament
B) The Constitution has declared Hindi and English as the official languages for conducting business in the Parliament

Options :

1. # Aonly

2. ¥ Bonly

3. ¥ Both A and B
4. % Neither A nor B

Question Number : 49 Question Id : 630680220987 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 FIOS DA Jes0?

A) TLRDD FER0ENS'D €250 DI ST D5 ONHDIEIE FBT0EN SEsETIES FETSS

B) PER0ENS’ 835553570 DB 5708 570 SHOOMM €30 BoG0e3R 9&SE a3en Trasoro
D830V 0H

Options :

1. % A Sr(had

2.9 B 305

3. % A 8% B B0y

4. % A5 BB 5RO 520

Question Number : 50 Question Id : 630680220988 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) is/are correct?

A) Governors in India are elected through an electoral process rather than appointed by the President
B) The position of state governor is not considered to be a central government employment

C) State election commissioner is appointed by the chief minister of the state

D) The President of India has the power to remove the Governor of a state from office at any time

Options :

1. % Aand C
2. % Aand B
3.% Cand D
4. % Band D

Question Number : 50 Question Id : 630680220988 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
806 853500(2)S” DE/DN DB IE/DBID?
A) 2ESTIOS” K55G T AIBT AOHMOTIH0E DA E (DIECH ° $T° D) T b Sd
B) O° 5638525 DI BoIES (928%0¢b § &S50 HBKe30tI2 ¢
C) T2 D) EMASE TR 830 5D0(€3 QO ED
D) 2,8 T (5638 5 DB DAD O A0 OSSO0 23°8ed T°l QD38 Gsoenod
Options :
. % AB8aAw C
2. % AB0w B
3. % CBaAw D
4. ¢ B H8ASM D

Question Number : 51 Question Id : 630680220989 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To whom does the constitution confer the power to create or abolish legislative councils under Article 169?
Options :

1. % Parliament

2. ® State legislature

3. ® Chief Justice of India

4. ® Governor of the state

Question Number : 51 Question Id : 630680220989 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OEBI0 169 (DSE0 FTIFINOBO BHBT B BN T @TTR) T°235050 88 9D Yo &?
Options :

1. ¢ 80

2. % O7(Q T

3. % 238 (DG 5008

4. % o7 5386

Question Number : 52 Question Id : 630680220990 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who is the head of a Gram Panchayat?
Options :

1. # Mukhiya

2. # Chief Minister

3. # Pradhan Mantri

4. % Sarpanch

Question Number : 52 Question Id : 630680220990 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(T HOTTONE BN D5B?
Options :

1. % S0P

2. % J05eo(ed

3. % D50 ol

4. % 380N

Question Number : 53 Question Id : 630680220991 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Under which part of the Constitution of India do the Municipalities come?
Options :
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1. % X-A
2. ¥ [X-A
3. % V-A
4. % VI-A

Question Number : 53 Question Id : 630680220991 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0AIFOE3eN erEeh Toers0N0S R O 270 80K SON?
Options :

1. ¥ X-A

2.9 IX-A

3. % V-A

4. ® VI-A

Question Number : 54 Question Id : 630680220992 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the three-tier structure of Panchayati Raj in the correct order of hierarchy.
A) Mandal Parishad

B) Gram Panchayat

C) Zilla parishad

Options :

1. ¥ B-A-C
2. % A-C-B
3. % C-B-A
4, ¥ B-C-A

Question Number : 54 Question Id : 630680220992 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DOTTONES T8 TBNEY SIPHOTIO 3530 DB O (5006 90508,
A) S006S HOHS

B) e HOTowed

C) B H8AS

Options :

1. ¥ B-A-C

2. % A-C-B

3. % C-B-A

4. % B-C-A

Question Number : 55 Question Id : 630680220993 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which social reformer led a campaign against the practice of Sati in India in early 19t century?
Options :

1. # Bhagat Singh

2. # Lala Lajpat Rai

3. ¥ Raja Ram Mohan Roy

4. # Jawaharlal Nehru

Question Number : 55 Question Id : 630680220993 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1955 38720 (DFB02506S° 23S TFOS” NDEBISTHNN0 STTTRE 9 5RBEOM (DTPT™IE TONEEH €0 920D DO
00038 DS?

Options :

1. ® 2569 voh

2. % erer ©23de 0PN
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3. ¥ 0P U0 3% T°00
4. % BI50erd IS0

Question Number : 56 Question Id : 630680220994 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following events in chronological order:
A) Partition of India

B) Non-Cooperation Movement

C) Quit India Movement

D) Civil Disobedience Movement

Options :

1. ¥ B-D-C-A
2. % B-A-D-C
3. % D-C-B-A
4. % C-D-B-A

Question Number : 56 Question Id : 630680220994 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 J0NQIDOX 5°ZATPDIBOMT €9e0S )0 d:
A) 275HTF s

B) 0500 QT8N €5C5§e00

C) 858 QOAAS® €500

D) B0 &350
Options :

1. ¥ B-D-C-A

2. % B-A-D-C

3. % D-C-B-A

4. % C-D-B-A

Question Number : 57 Question Id : 630680220995 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct statement(s) from the following:
A) In 1928, the Hindustan Republican Army was reorganized to Hindustan Socialist Republican Association
B) Chandra Shekhar Azad played a crucial role in the reorganization of the Hindustan Republican Association

Options :

1. ®¥ A only

2. % Bonly

3. % Both A and B
4. % Neither A nor B

Question Number : 57 Question Id : 630680220995 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S DB TELHM(©)D) DOTHE0A:

A) 192865°, 2POCOTS BHDES €382 roRFTS FADT BHDES OFJTHAST )5S $55VEB0TTE
B) 2FOCHRTS BHDES o FVTHAS 5B S55ESS 50(C5 3B €328 SerE (5% FNOTTE
Options :

1. % A S>(¢hadd

2. % B 3o

3. ¢ A OB B Bodky

4. % A5 BB 5RO 520

Question Number : 58 Question Id : 630680220996 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following social reformers is/are accurately matched with their contribution?
A) Gopal Krishna Gokhale : Widow remarriage
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B) Ishwar Chandra Vidyasagar : Sati
C) Bal Gangadhar Tilak : Servants of India Society
D) Mahatma Gandhi : Harijan Sevak Sangh

Options :

1. # Aonly
2. % D only
3. % Band D
4. % AandC

Question Number : 58 Question Id : 630680220996 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80O 100 D0HYEEN BAN F*H TID VI OB 23653 EDFTS0R
A) S 890 DS : Deb0ehd HI §°3°0

B) &2 55 5015 Qg6 1 eS80

C) 2r® BOPeD SBe§ : OB S0ES ) 8D R0GOS> FeEd

D) 085 TPO& 1 Tr023 3B HOSNED

Options :

1. % A S>(¢hadd

2. ¥ D S(¢hodd

3. % BOOAWD

4. % A 80w C

Question Number : 59 Question Id : 630680220997 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following social and religious reform movements in India in chronological order:
A) Prarthana samaj

B) Ramkrishna mission

C) Brahmo samaj

D) Arya Samaj

Options :

1. ®# B-A-C-D

2. % D-B-C-A

3. ¥ A-D-B-C

4.+ C-A-D-B

Question Number : 59 Question Id : 630680220997 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2PSESTIOS 0B FidTEE SOOI 0 HOKYBED €555 SPOIESTOTE0 9s0E )0 &:
A) (P8 3230

B) 0”090 QDA

Q) 22372 Ne35°230

D) &38503eS

Options :

1. ¥ B-A-C-D

2. ® D-B-C-A

3. % A-D-B-C

4. ¥ C-A-D-B

Question Number : 60 Question Id : 630680220998 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the given political organisation in the chronological order.
A) British India Association

B) Indian National Association

C) Bangabhasha Prakashika Sabha

D) Indian National Congress

Options :

1. ¥ C-A-B-D
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2. % A-B-D-C
3. ®% C-B-A-D
4. % A-D-C-B

Question Number : 60 Question Id : 630680220998 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AN ) T80 DOND SOEXTRHISE0 03 0B
A) (DR 20305 @FFVIDAS
B) Q0G0HS JAIS @FADAS
C) 2012 (D5°FE 023

D) a3¢ 23305 SO(RR

Options :

1. ¥ C-A-B-D

2. % A-B-D-C

3. % C-B-A-D

4. % A-D-C-B

Question Number : 61 Question Id : 630680220999 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following revolutionary organisation is correctly matched with their founders?

A) Bharat Mata Society i) Ashwini Kumar Dutta
B) Swadesh Bandhav Samiti | ii) Bhagat Singh

C) Mitra Mela iii) Ajit Singh

D) Bharat Naujawan Sabha iv) Savarkar Brothers

Options :

1. ¥ A-ii, B-i, C-iv D-iii
2. % A-iii, B-i, C-iv D-ii
3. ® A-iii, B-ii, C-iv D-i
4. #® A-iii, B-iv, C-ii D-i

Question Number : 61 Question Id : 630680220999 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 DPad D0 OO T DIDFDSV DBTF 2BDOLI0C?

A) erod arme Tt i) 934D Dard oo

B) :()56:‘5% PO D0 i} 3¢5 Do

C) &g 0w iii) e92363 oh

D) &0 Faara 22 iv) 06 TFesen
Options :

1. # A-ii, B-i, C-iv D-iii
2. % A-iii, B-i, C-iv D-ii
3. # A-iii, B-ii, C-iv D-i
4. % A-iii, B-iv, C-ii D-i

Question Number : 62 Question Id : 630680221000 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are correct regarding the fiscal policy of India?

A) Fiscal policy refers to the management of revenue and capital expenditure by the state

B) Financial bills can be introduced in Rajya Sabha

C) Annual financial statement is presented by finance minister in the Parliament

Options :

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 26/66



22/05/2023, 13:04 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

1. ¥ C only
2. % Aonly
3.% Aand C
4. % Band C

Question Number : 62 Question Id : 630680221000 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PESTS 308 D8 Ho0A0D 808 e3¢ HBIE E?

A) &888 D530 9T T 20 A3NEY T°E OO S0 H55A55e DB §55789 0 QDN
B) 0723502565 €398 DN (3% ST

C) 6305 00(& 5708 308 ASOE TN’ DB YT

Options :

1. ¥ C S

2. % A S(¢had

3. % A B8O C

4. % B HOaAw C

Question Number : 63 Question Id : 630680221001 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the main objective of the Stand Up India scheme?

Options :

1. # Provide low-interest loans to existing small businesses

2. % Promote entrepreneurship among women and SC/ST communities
3. # Facilitate foreign direct investment in the country

4. # Promote the growth of large corporations

Question Number : 63 Question Id : 630680221001 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 08 @9 ROAA® HPHE0 TBNEY (DT ©F 50 Da0e3?

Options :

1. % [0S0 &) DY) 5T OE 580709 55(29 BTN OO0
2. ¢ S0P en HBAN SC/ST ST B FES D (86 )or0Ic0

3. % BF0S DT (D58, 2ERDEO 23eHB0 TADNBO

4. % ) 5090 SIB (8¢5 )2r0H¢h0o

Question Number : 64 Question Id : 630680221002 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the given statement(s) correctly describes liberalisation?
A) Through liberalization government control is relaxed or abolished
B) Trade and investment policy reforms are an integral part of the liberalization process

Options :

1. % A only

2. % Bonly

3.+ Both A and B
4. ® Neither A nor B

Question Number : 64 Question Id : 630680221002 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B IS TELN(©)S’ DB HEDEB£ D DOT DSBNOE?

A) DEDEBE T3°ST° (25065 S DODHO(5Ed DHDOLIDCRSBI0B T B0 TAHDRSBI0D
B) H3DEG (DIBOHE’ @0e5T)50 °e32350 SHOOAN DEPDE DTS DOdy Seaen
Options :

1. % A S(hadd
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2. % B X5
3. % A OB B BoLy
4. % A5 BB 5 A 59

Question Number : 65 Question Id : 630680221003 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) is/are correct?

A) Privatization was one of the key components of the economic reforms 1966 i.e., LPG (Liberalization, Privatization, and Globalization)
reforms

B) Disinvestment is a tool used for privatization of public sector undertakings (PSUs) in India

Options :

1. % A only

2.+ Bonly

3. % Both A and B
4. # Neither A nor B

Question Number : 65 Question Id : 630680221003 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 E530(2)S’ DE DB IE/D?

A) 1966 €88% S0 Bgaen, 0T LPG (HSDESea, | 203¢3539 08050 (DD0DEBE) DOy Seaed TINEY S0
PO 2,863 | SE3ESes.

B) ERDHO EIN0TBE 0 2rSSTIOS (292065 § G0K DOV (PSU) | 23¢3830 S50 edBrA0TIDT 208
NEAING)

Options :

1. % A Sr(¢hadd

2.9 B 305

3. % A 080 B 3oy

4. % A BB 5 DA 52

Question Number : 66 Question Id : 630680221004 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During whose tenure as Prime Minister was the first Five-Year Plan presented to the Parliament of India?
Options :

1. + Jawaharlal Nehru

2. # Rajiv Gandhi

3. % Atal Bihari Vajpayee

4. % Lal Bahadur Shastri

Question Number : 66 Question Id : 630680221004 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23S ST FPOOENZL BIE3 HOTISY (DT DEXD & (DTNN0(S 57A5T0eS DB YoTTEd?
Options :

1. ¥ 233555erd S

2. 8 o8 rodd

3. % @& DB oref DO

4. % oS 2570 3R

Question Number : 67 Question Id : 630680221005 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the objective of Industrial Policy Resolution of 1956?
Options :

1. # To bring LPG reforms in India

2. % To boost MSME sectors

3. % To bring technological advancement in industries
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4. % To expand public sector and control private monopoly

Question Number : 67 Question Id : 630680221005 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1956 BT NE DTS STS0 TwE) ©F S0 dES?

Options :

1. % 2333306 LPG HOD) B0 e3e0E0T™3¢80

2. % MSME 0o @8Ny BAHB0

3. % HBFHOS’ FOTRE HFUBD B0ET*HH0

4. % (H205 5 SO DRB0TIR0 08050 55815¢8 HT QN AAHO(B0NB0O

Question Number : 68 Question Id : 630680221006 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is known as the Father of Green Revolution in India?
Options :

1. # Jawahar Lal Nehru

2.+ Dr. M.S. Swaminathan

3. ® Nelson Mandela

4. # Mahatma Gandhi

Question Number : 68 Question Id : 630680221006 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2T ESTIOS 8 NS DTV DSED?
Options :

1. % 23550 erd I

2.9 . D0.0R. LT DR

3. % [0S Homer

4. % 5% O

Question Number : 69 Question Id : 630680221007 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which states were primarily focused during the Green Revolution in India launched in the 1960s?
Options :

1. ¥ Punjab, Haryana, and Uttar Pradesh

2. # Madhya Pradesh, Bihar and Rajasthan

3. ® Punjab, Himachal Pradesh and Haryana

4. % Karnataka, Kerala, and Tamil Nadu

Question Number : 69 Question Id : 630680221007 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

196006’ 2SS TI0S’ (FB0D0TIDES 576 DRSO & T AFO D [DGTSOM dga) PE0D0E?
Options :

1. ¥ 502585, PO°50° QDOOW & SS(DTT

2. % EIDTT, D3P HBA5N TR

3. % 5023, NS (DBF DOOW STTse

4. % ETE, SO OO SNFTC0

Question Number : 70 Question Id : 630680221008 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match the following tribes and their corresponding states.

A) Sentinelese | i) Assam
B) Bodo ii) Chhattisgarh
C) Gond iii) Andaman and Nicobar Islands
D) Siddi iv) Goa
Options :

1. # A-ii, B-i, C-iii, D-iv
2. # A-iii, B-iv, C-ii, D-i
3. % A-iii, B-i, C-ii, D-iv
4. # A-ii, B-i, C-iv, D-iii

Question Number : 70 Question Id : 630680221008 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 Briew 20B0IDL ) DoOAS T PO BBDCBOC.

A) 20B3DD | ) o
B) &E i) SAROE
0 Ho& i) 206D S0B0ID DFerd Hanen
D) 2& iv) & o
Options :

1. ¥ A-ii, B-i, C-iii, D-iv
2. # A-iii, B-iv, C-ii, D-i
3. % A-iii, B-i, C-ii, D-iv
4. # A-ii, B, C-iv, D-iii

Question Number : 71 Question Id : 630680221009 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which ministry launched the Pradhan Mantri Mudra Yojana?
Options :

1. # Ministry of Education

2. % Ministry of Home Affairs

3. % Ministry of Defence

4. # Ministry of Women and Child Development

Question Number : 71 Question Id : 630680221009 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&) S00(3¢% § F°Y (DT O(EY W|E° B33 I (2PE0DOD0E?
Options :

1. % D°g O(e365 ¢ 3D

2. ¢ PO 9§33°T° QD0 (e3¢b § o

3. % 3889 0365 § TR

4. % 03°%° DBAW 7D 298598 O(e365 § TR

Question Number : 72 Question Id : 630680221010 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following schemes are correctly matched with their objective?

A) MNREGA: provide at least 100 days of guaranteed wage employment

B) Pradhan Mantri Jan-Dhan Yojana: financial inclusion to ensure access to financial services

C) Pradhan Mantri Employment Generation Programme: provide continuous and sustainable employment to artisans, rural and urban
unemployed
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Options :
1. % Aand B
2. % Band C
3.% Aand C
4. % A, Band C

Question Number : 72 Question Id : 630680221010 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 & HGH5EN ¢S OF S0 DO 235TIANVTFON?

A) MNREGA: Q0 100 8220 &ard 570 008050

B) (DG Q00|83 233-PQ Tarasdd: @88 IR (75650 QT80T 888 ED0D)

C) (DG 00| Gl ED) 5755 E00: TTE3S5HENEZY, (IPaded 0G0 HEED DBIETSHOEL DB0HES HBASN RS
GO §))H0TS%0

Options :

1. % A8 B
2. % B8 C
3. % A 85w C
4. A, BOAW C

Question Number : 73 Question Id : 630680221011 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct statement regarding the social model of disability?
Options :

1. # Disability is caused by individual impairments or differences

2. # People with disabilities are dependent on charity

3. % Society creates barriers that disable people with impairments

4. # People with disabilities are not capable of making their own decisions

Question Number : 73 Question Id : 630680221011 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3850 TINEY TS528E 0T E0 0220500 0B 53¢3” D DB 85507
Options :

1. % 55801e5 220arSehen B S5 5aTed SO SE0 DSRS0

2. % 38050 o) 780 tredy)ed $0 STPONEE

3. ¢ DRSS KO S5O 9 IBENTT TR eB0ZOR NDSTB0 DY DO
4. % JEO50 50 T 6% D 50eh APASTEN SNESHD

Question Number : 74 Question Id : 630680221012 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following state does NOT share its boundary with Telangana state?
Options :

1. ® Maharashtra

2. % Odisha

3. # Karnataka

4. % Chhattisgarh

Question Number : 74 Question Id : 630680221012 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 808 & TR0 B0OMTED T (RO BTV HOTHESE0 Se?
Options :

1. % 0507

2. ¥ 2.47

3. % E0res
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4. % JBJEE

Question Number : 75 Question Id : 630680221013 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) regarding State symbols of Telangana is/are TRUE?

I. Jammi Chettu (Prosopis Cineraria) is the State Tree.
II. Nemali (Pavo cristatus) is the State Bird.

Options :

1. # Neither I nor II is true
2. # Both I and II are true
3. % Only L is true

4. % Only II is true

Question Number : 75 Question Id : 630680221013 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SBOOME) TR DIE) OZ D0VOEO0D 80A & TP WIN(EN) N230?

L. 07 $98.0 23002 TEY (IR DX°BAE).
IL 073 HE. JH (S (ERR).

Options :

1. % 10805 I O Q230 5°)

2. % 1:08a% I Bod» 280

3. ¢ 1378 D230

4. % I S0 QB0

Question Number : 76 Question Id : 630680221014 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are INCORRECT in context of forest status in Telangana in 20227

L. Total Forest area accounts for 30 percent of the total geographical area of Telangana.
II. There are 12 protected areas in Telangana that includes 9 wildlife sanctuaries and 3 national parks.
III. Hyderabad registered the highest decadal growth rate of forest cover between 2011-21

Options :

1. # Only I and IT
2.4 Only I

3. ® Only Il and III
4. % Only IIT

Question Number : 76 Question Id : 630680221014 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
202265’ OIS @D VBE H020E0D OB & 1DEEIS(EN) DESC/Y?

L 800 I0B0 THDE DGO’ 30 3250 @edd) (00.

IL SO 12 3§ & [FOTeN &a3*) 0W, YO 9 Sd§ETEDES e925OSPSET 5N OO 3 233D
e TAEONNININVWGVY

1L 2011-21 358 P06’ €9¢5:9© DGO TPTerE e5§EE 3T ed 9@ BEND SBrc T0A.
Options :

1. % 108050 IT S5

2. ¥ T S S

3. % 1108050 M S5

4. % I S°(eH o

Question Number : 77 Question Id : 630680221015 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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What is the geographical area of the Telangana state?
Options :
1. % 112,077 Sq. kms.
2. % 101,301 Sq. kms.
3. # 96,085 Sq. kms.
4. % 124,081 Sq. kms.

Question Number : 77 Question Id : 630680221015 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOME) T Q0 T 2T FHOE VG DOes?
Options :

1. ¥ 112,077 535 8.90.

2. % 101,301 <553 8.9%.

3. % 96,085 295D 8.2.

4. % 124,081 T3 8.9%.

Question Number : 78 Question Id : 630680221016 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are CORRECT?

L. The Society for Elimination of Rural Poverty (SERP) works by building and nurturing Self Help Groups (SHGs) of women and their
federations.

II. The Society for Elimination of Rural Poverty (SERP) is a sensitive supportive structure to facilitate social mobilization of rural poor
women in 11 rural districts.

Options :

1. ® BothIand Il
2. % Only I

3. % Only II

4. # Neither I nor II

Question Number : 78 Question Id : 630680221016 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S 808 F0(EN)SS AE/D DBIE?

L [Ta0e9 D588 QB0 H33230 (¢35 958 dODTAS 6D SrSS 27s58) (SERP), 5057 Fe 08050 a8 Hadads
Q500 DFFADNE 2HOTOD (VD) D)) |11°0)) (SHGs) AB00) a3°¢3Q FAN0E.

IL [P0 DE0E BT D330 (S DB DODTAS &9 SrSeS 58) (SERP) @0 11 (ed 8 S (mhoea
D 0T 288 DaNEGEEI) OSSO0 TONTETE DBV 28 QY BHTS DIFANE 5285 1ED0.

Options :

1. % 10805 11 Bocsw

2.9 [ S5

3% 11 300(eHo

4. % 106 11 Bocdy 5°¢0

Question Number : 79 Question Id : 630680221017 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following National Highway as per new Highway numbering system does NOT pass through Telangana?
Options :

1. ¥ NH 30

2. % NH 150

3. % NH 62

4, % NH 61

Question Number : 79 Question Id : 630680221017 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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§S BT DOFES H59Q (375 H00B0N DR) IDISTE0 &2 80E &) 230D ST B0 DT SLC?
Options :

1. % NH 30

2. % NH 150

3. % NH 62

4. % NH 61

Question Number : 80 Question Id : 630680221018 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Telangana Budget 2023-24, what is the percentage change from Revised Estimates (RE) 22-23 to Budget Estimates (BE) 23-24
for the sector ‘Agriculture and Allied Activities’?

Options :
1. # 10%
2. % 23%
3. % 14%
4. # 35%

Question Number : 80 Question Id : 630680221018 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 2FE 2023-24 (DSB0, ‘6359 TPAN0 0OAM 902208 S°EsEerren’ SOmrAE H0220H0D HHBODS
0NN (BRQ JVe0E)) (RE) 22-23 08050 2FE €903 (2FE Je0Ed ) (BE) 23-24 83365 0O 3250 55750
NTARIAY;

Options :

1. % 10%

2. 23%

3. % 14%

4, % 35%

Question Number : 81 Question Id : 630680221019 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana State Renewable Energy Development Corporation Ltd., (TSREDCO) is nominated by Government of Telangana, for
implementing which of the following program(s)?

1. To provide 200 units of free electricity to each household in the state.
II. Setting up of EV charging infrastructure for Electric vehicles.

Options :

1.+ Only II

2. % Only I

3. ® T and II both

4. % Neither I nor II

Question Number : 81 Question Id : 630680221019 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 & SBYESIPQY, ©sEN TONAE BOOMTED (25065 O 'BOTTED Y SISDSEBODH RO 3B DS HE
50D OWBE' (B0TPed WE BdFPsssenS DGO BIODR0E SFHBAS OWBE) (TSREDCO)Q AOHD0DOE?

L 07 R0 (5 R0¢38 200 CHFAL) S DB ©OAOIETSE.
1L DRSS 77 FEE EV 57000 oST7OE DI OSTrer)dd Q)07 )E0 BOHES.

Options :

IR VNV SN

2. % [ S5(S

3. % 10005 11 Bockr

4. % T08a5 I BOC® 5°¢0

Question Number : 82 Question Id : 630680221020 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
is a popular dance form performed by the Gonds of Northern Telangana.
Options :
1. ¥ Gusadi
2. # Kuchipudi
3. % Dandari

4. % Jhumair

Question Number : 82 Question Id : 630680221020 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&SS BOOMTEIS ' FochED (X80T 28 (D Soebs &mdo .
Options :

1. % HIHE

2. % 557G

3. Sowd

4. % 3000

Question Number : 83 Question Id : 630680221021 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a colourful floral festival of Telangana and is celebrated by womenfolk with exotic flowers of the region.
Options :
1. ¥ Bathukamma
2. % Bonalu
3. #® Ugadi

4. ® Dasara

Question Number : 83 Question Id : 630680221021 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMe [0S0 DA B JPOS rerFen BEHNT SO TSy SoHSore Jre> Hocod
Options :

1. ¥ 205,

2. % Sren

3. % &GO

4. % Qo0

Question Number : 84 Question Id : 630680221022 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Kakatiya rule led to evolution of dance forms such as , also known as ‘dance of warriors’.
Options :

1. # Ponung

2. % Perini Sivatandavam

3. % Bardo Cham

4. # Kalaripayattu

Question Number : 84 Question Id : 630680221022 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SEROH TS TP Sebs0' 0 EPET DENSDT 03 dgehs EFre HOETXITIE rOSVOE.
Options :

1. # oh

2. ¥ 0063 BST08S50

3. % as@s T

4. % ES8H00Y
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Question Number : 85 Question Id : 630680221023 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are CORRECT for Ramappa Temple situated in Telangana?

I. Ramappa temple was built during the Kakatiya Dynasty in 1123 AD.
II. Ramappa temple is an ancient temple dedicated to Lord Vishnu.
III. Ramappa temple is inscribed as the UNESCO World Heritage Site.

Options :

1. % Iand II

2. % I, 11 and I
3. Only 111

4. % Only I

Question Number : 85 Question Id : 630680221023 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOOMRS' T%00)) SOASTIE H00HOD & (80 TWSO(EN)S’ DE/DR DB IE/D?

L T%30) Bare>000 1123 ADES' SEBAH aP(e523s 5006 AB0t92E08.

I1. 0700 SO0 03 DeYEL 90850 TOLVRN 208 DTS e3e>0NO.

11 T°0D)) BIPOAN0 OGN (UNESCO) [DD0 8068 § (DTFOm 9803520308,
Options :

1. % 108aw 1T

2. % 111 0805 I

3.9 T S°(Hod

4. % T 3SR

Question Number : 86 Question Id : 630680221024 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following:

Craft Description

1. Bidri Craft a. It is a form of embroidery and mirror work on fabrics.

II. Banjara Needle Craft | b. Unique art of silver engraved on metal.

III. Dokra Metal Craft | c. It also known as bell metal craft and is widely seen in Jainoor Mandal.

Choose the correct option.
Options :

l.% I—a,ll—-c, lII-b
2.¥1—b,11-a, Illl-c

3.8 J—¢c,II—-a,1II-b

4 % J—c,II-b,1lI-a

Question Number : 86 Question Id : 630680221024 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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208 oD oo

e D6

I D& irosv 3. 26 2UD Jogrontd b Mg HE), BH 8 ardo.

Il aozroe fardd P6e | b S'rep Dotdd 3F), 28 DS &Y.

. &z §ir irhev c. HID DS Doeel Toh, BB J0FDD S5%5F0) TSV ©d Sroe

(Egr 2oS 35 DEDFW, G SV BArS dwocuos”® I SR,

20 Joasan oo od.
Options :
1.%¥1-all-cI-b

2.4 1-b,ll-a,lll-c

3.% [—c,ll-a,lll-b

4. % [—c,I-b, -2

Question Number : 87 Question Id : 630680221025 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECTLY paired ‘Site’ with their respective ‘District’ in Telangana.
Options :

1. # Thousand Pillar Temple — Hanumakonda district

2. # Domakonda Fort — Kamareddy district

3.+ Nandikonda — Jagtial district

4. % Devarakonda Fort — Nalgonda district

Question Number : 87 Question Id : 630680221025 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST 3¢ TOH DS SO (DBF0" HOAKN ‘B 235D HO0I0A.
Options :

1. % Sow Q0gre N — 00T 8

2. 8 8050 8 - 52308 2°

3. ¢ JoOT 0 — ey 3¢

4. % BIOFO T — IS0 8

Question Number : 88 Question Id : 630680221026 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is CORRECTLY arranged in the increasing order of area of the district?
Options :

1. # Hanumakonda < Khammam < Medak < Jangaon

2. # Jangaon < Medak < Khammam < Hanumakonda

3. % Khammam < Hanumakonda < Medak < Jangaon

4. ¢ Hanumakonda < Jangaon < Medak < Khammam

Question Number : 88 Question Id : 630680221026 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B VG0 ST (K00 @503 2GS DB DODEXD JOTHEOR?
Options :

[ % 5P0eNE0Ch < N0 < AT < 2350

2. % 2330 < AT < P20 < TFPNT 0

3. % o0 < SFPNT 0 < AT < 83O

4. % FNTOCS < 2390 < AT < P20

Question Number : 89 Question Id : 630680221027 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per UDISE-2019-20, among the Non-Special Category States in the country, the Telangana state’s GER for primary schools stands
in the country.

Options :
1. # First
2. % Fifth
3. # Eighth
4. % Second

Question Number : 89 Question Id : 630680221027 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

UDISE-2019-20 |05°30, B0 (D850 0°e B SE) (°Q-2)AS 3&88) orlalereS 8er0mred U7 Q) (G0
JBFOS GER TS0 0.

Options :

I APIaNY

2. % 20085

3. % QMDD

4. ¥ BOCKS

Question Number : 90 Question Id : 630680221028 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following literary works of Telangana in chronological order, from earliest to latest:

I. Palkuriki Somanatha’s Basava Purana
II. Nannaya Bhattaraka’s Andhra Mahabharatam
III. Krishna Devaraya’s Amuktamalyada

Options :

1. % [-11-1II
2.8 MI-1-11
3R MI-11-1
4. 11-1-111

Question Number : 90 Question Id : 630680221028 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 B0 rerehs BTN (BFPDS 520 OB I5ehS TO(EST DI B0 €508 Job:

L are0.88 TR0 22063 )T°e0
IL S50 236388 @808 o3t Se50
11 9 TRIT°ONS e8308See5¢d
Options :

. ¥ I-1I-1II

2. % IMI-1-11

3R IM-1I-1

4. 11-1-11

Question Number : 91 Question Id : 630680221029 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following:

Tribe Traditional Occupation

I. Gonds a. Bamboo crafts

II. Pardhan | b. Singing

III. Kolams | c. Agriculture
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Options :
1.¥1-c,I-b,1ll-a
2.% I—all-c IlI-b
3.% 1-b,l1-a, 1l -c¢
4 B 1-b,I-c, IlI-a

Question Number : 91 Question Id : 630680221029 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
200 D RS0I0C:

Abaven roDEPaDS
I. Focen a. DL DASYeD
Il g b. trd0
. Eeradonen C. R0
Options :

1.¥I1-c Il-b,1ll-a
2.8 [—a,ll-c,IlI-b
3.8 [-b,11—a,lll-c¢
4. % [-b,1l—c,Il-a

Question Number : 92 Question Id : 630680221030 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following tribes in increasing order of their population in Telangana state:

I. Koya
II. Pardhan
III. Gonds

Options :

.Y II<I<I
2.8 I<II<II
3.8 II<I<II
4. % MI<II<I

Question Number : 92 Question Id : 630680221030 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By Do ST (5006 B0 TY R0 AB23HO @13 )0G:

1. 8%

IL OTR

1. focken
Options :

LY I<II<I
2. % [<II<II
3.8 [I<I<II
4. ® [I<II<I

Question Number : 93 Question Id : 630680221031 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Amma Vodi scheme is related to:
Options :

1. ® Widows
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2. % Men
3. % Pregnant women
4. # Adolescent girls

Question Number : 93 Question Id : 630680221031 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

95302 23 DHZ0 DB H0220HODIIE?
Options :

1. % Ddoedayen

2. % HAoen

3. ¢ 15868 [ Rew

4. % A508S0HN)S €S @S8R I00e0

Question Number : 94 Question Id : 630680221032 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana CM K Chandrasekhar Rao launched KCR Kit Scheme, which of the following is NOT one of the intentions of the given
scheme?

Options :

1. # To provide quality healthcare throughout pregnancy and post-delivery
2. # To ensure full immunization for the new born

3. # To reduce Maternal Mortality Rate and Infant Mortality Rate

4. ¥ To ensure twofold meals to homeless and beggars

Question Number : 94 Question Id : 630680221032 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

@gon"ea S0$0(E K 505300 77 KCR 8¢5 HHSRY, [BrS00TT, 68 1808 o736 D& &8 HeHEo T30
&30 5°C0?

Options :

1. % 58)5°380 sDOAM (DN ST 56b a0 e85 HDOBE 9 @0AONG0
2. % HES D9B0 I8 FHEIBNES0 AT B0H0

3. % (D3 S08e7red Bew S08A%N B S0deTred Bendd $Hodcso

4, ¥ JU(FANOE0 DO ASFIRVIOE BOCY JPEI® 52380 ©90H0IS0

Question Number : 95 Question Id : 630680221033 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are TRUE for the Crop diversification index in Telangana?

I. Karimnagar is among the top three districts in terms of crop diversification.
II. Peddapalli is among the bottom three districts in terms of crop diversification.

Options :

1. ¢ Only Il is true

2. # Both I and II are true
3. % Only I is true

4. % Neither I nor II is true

Question Number : 95 Question Id : 630680221033 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0’ HOLO DA AFDEE H0DOB0D 0B FPSO(EN)SS I/ J80?

L 5026 BAE5ESS” DS TS0’ &), sorchd 2SS EB0SHE 2,8¢3.
I, 5060 SIBESES” DO TS0 &rd) sy BT DSIO &0 &,
Options :

1. ¥ 11 S Q230

2. % 10805 IT Bochr Q230
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3. % 1 3¢ D230
4. % 100050 I BOY” Q230 5°)

Question Number : 96 Question Id : 630680221034 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana Movement was launched by CPI through its
Options :

1. # Vidroh Morcha

2. # Jan Sabha

3. # Yuva Sangha

4. # Kisan Sabha

Question Number : 96 Question Id : 630680221034 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPITPY T S0° 8O0 &5 53r) (PS80 000:
Options :

1. % Q5 osd

2. 8 230028

3. % 50 QoMo

4. ¢ §S OB

Question Number : 97 Question Id : 630680221035 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After independence of India, for how long Hyderabad remained an independent princely state?
Options :

1. #® 18 months

2. % 13 months

3. # 21 months

4. # 24 months

Question Number : 97 Question Id : 630680221035 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

2TOSTTRE 2 5e50(e550 @30S SO 5, TFAT 2 OSSN 2 5e50|¢h TriBE TF RO &Sy ?
Options :

1. % 18 SO

2.9% 13 SO

3. % 2] SO

4. % 24 SO

Question Number : 98 Question Id : 630680221036 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are INCORRECT with respect to the developments that took place during Telangana Movement?

I. Razakars, a private militia was organised by Mohammad Ali Fazil.
II. Razakars brutally started crushing the armed revolts by the peasants.

Options :

1. #® Neither I nor IT
2. % Only II

3. ® BothIand II
4. % Only I

Question Number : 98 Question Id : 630680221036 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
BOOMTE &35 DXNONOE 2388 DBETRTOE DO0EOD &3 18O & TR §SN(EN) DOTC/Y?

L 523570 @9 28 $55815¢5 s, s0s38 9O 73S B SeFOTHEIT®Y &

11 B8 RPASNE S0 B2375°8) (0G0 @e3DIANG0 (080T .
Options :

1. % 10805 IT O 5°¢

2. % 1 005

3. % 10005 11 Bockr

4.9 T 3SR

Question Number : 99 Question Id : 630680221037 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Arrange the following in the chronological order (i.e First to last) according to the year of happening of the given events.:

I. Division of Telangana state to 7 zones and 2 multi zones.
II. Indian government conducted a military operation called Operation Polo
III. The Indian government appointed the States Reorganization Commission (Fazl Ali Commission)

Options :

1. % [-11-11I
2. % I-MI-1I
3.8 II-1-111
4. 11111 -1

Question Number : 99 Question Id : 630680221037 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QDI DOEIIEN 2EAS D0 IB0 (D5B0 80 3°¢3Q 5P| ZXTNRTB0 (90T REHES O VXY SS8L)
08 )odk.

L. B0 TR D253 7 8500 L8050 2 0€) SR,

IL 27865 (92565 20 e3IBAS S 0 1E 585 AE$5r0D0E

1L 237565 192565 §0 Tl 598353 VEEE EMAS (HBS 9 EMAT) D DOHWODOE.
Options :

1% [—1—1II

2.8 [—1I-1I

3.8 I-1-1II

4. 1-11-1

Question Number : 100 Question Id : 630680221038 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
Match the contents of Column I with Column II.

Column I Column IT
I. The first Chief Minister of Telangana a. E.S.L. Narasimhanhan
II. The first Governor of Telangana b. K Chandrashekar Rao
III. The first speaker of Legislative assembly of c. S. Madhusudhanachary
Telangana
Options :

1. ¥ 1-b, 1I-a, Ill-c
2. % L, II-b, lll-c
3. % L, II-b, [ll-a
4. % Lb, Il-c, lll-a

Question Number : 100 Question Id : 630680221038 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0
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DD 18°D dararoed)y, 260 [E°D 280 dararsed aadomol.

a0 | Falera gl
. Boorren B awayavod a. QDD DO
II. @oorres & 100Y 6 b. 8 SogiRnc TreD
lll. Beorres O 00085 386 | €. IR, DTS

Options :

1. ¥ L-b, Il-a, Ill-c
2. % [, II-b, Ill-c
3. % L, II-b, [1l-a
4. % b, -, lll-a

Question Number : 101 Question Id : 630680221039 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following political parties in such a way that the party formed earlier comes first.

I. Telangana Rashtra Samithi
II. Telugu Desam Party
III. All India Majilis-e-Ittehadul Muslimeen

Options :

¥ II-11-1
2. % [-1I-1II
3.% II-1-1I1
4. % M-10-1

Question Number : 101 Question Id : 630680221039 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SN0 ABIAS FHen IS STyer 808 Tra380% N IBIGS (ESTDITBE0 e3Q 3 )0A.

. 8O T°(Q Daded

II. SeHTF0 30

11, &S 0BT HBOV-R-ABH DS SHRDS
Options :

T | ) S § g

2. % 1111

3.8 [I-1-1II

4, % [I-11-1

Question Number : 102 Question Id : 630680221040 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following in correct chronological order (i.e first to last) according to the year of happening of the given events.

L. Bifurcation of the High Court of Judicature at Hyderabad
II. Formation of Telangana state
III. Formulating a Six-Point Formula to safeguard Telangana’s interests

Options :

1. % I-1I-1I
2. % M-10-1
3. II-11-1
4. % MI-1-10

Question Number : 102 Question Id : 630680221040 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D) D0NESIEN 2BBAS 03¢5 )30 (D5°E0 80 3°¢3Q DT STO(ELFNRG0 (90T NS DO DB HBBL)
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@8)osk.

L 370720 R 05050695658 TINE), €5ed) & SO0 D258

I1. O T 20 ST*)0

I1. SO (DTS STPEBONE &K QP> DPSRY (D) FPON0E aFEer) Eraro&0dt0
Options :

1% 1-1I-11

2.8 II-TI-1

3. M -11-1

4. % MI-1-10

Question Number : 103 Question Id : 630680221041 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which city of Telangana received the ‘World Green City 2022° Awards?
Options :

1. ¥ Kukatpally

2. ® Mallapur

3. # Shamshabad

4. ¥ Hyderabad

Question Number : 103 Question Id : 630680221041 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S53S (AS 23¢3 2022’ ©97EE8) BOOTEIS' & SIS0 0CHH0E?
Options :

1 % 5855

2. % Hery*d

3. % Joxrerd

4. ¢ A0S

Question Number : 104 Question Id : 630680221042 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement(s) is/are INCORRECT for the art and culture of Telangana?

I. Bathukamma is a vibrant, colourful floral festival celebrated with great gusto by the women in Telegana.
II. Medaram Jatara is a festival celebrated in Telangana to honor the goddesses Sammakka and Saralamma.
III. Telangana’s famous festival Bonalu is celebrated in honor of the Hindu goddess Laxmi.

Options :

1. % [, [l and II
2. ® Tand III

3. % Only III

4. % Only II

Question Number : 104 Question Id : 630680221042 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOOMTE EHEN DO DO Y& H0DOB0D) &8 80 a7e3¢S & (HEEIS(@V) DESV/Y?

L 226855302 XA 2.8 e )Te0S 0, B0HB0MHO 5370 HOEN, A BOOMETE'Q IEFFEN JOS Ee )T oM
250 Z00EFH.

IL SOOI HDe028Y, PSR T35 FBNOT DO TNEB0 23°¢53.

1ML 708 B3¢ @8 FETE0 BEIT B0 (VG HORH S'arex.

Options :

1. % 1,11 0005w I

2. % 108a% I

3. ¢ 11 S50

4. % I (5
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Question Number : 105 Question Id : 630680221043 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following option is NOT true for Nethanna Ku Bima scheme in Telangana?

L. It covers handloom and powerloom weavers
I1. It provides for financial insurance of 2.5 Lakh
III. It was launched by K T Rama Rao

Options :

1. % OnlyIandII
2.+ Only II

3. % Only I and III
4. % Only II and 111

Question Number : 105 Question Id : 630680221043 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SOOMRS' Tehad) 50 DXT DT H0220E0D 80 T3S’ DA D230 5?2

1 960 THeb 005 OH0(5H5 5265008 SO06
IL 98 2.5 ©5.0 308 X3P 90BN
111 A 3.63. T°85°TsY (2S00 S

Options :

1. % 10005 I S5°(eh 3

2.9 11 S5

3. % 108050 I S5
4. % I1 08050 1T S ¢had

Question Number : 106 Question Id : 630680221044 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As a part of social safety net strategy, which department of Telangana government introduced the Aasara pensions with a view to ensure
secure life with dignity for the poor?

Options :

1. # Minorities Welfare Department

2. # Health, Medical & Family Welfare Department

3. % Panchayat Raj and Rural Development Department

4. # Women Development, Child Welfare and Disabled Welfare Department

Question Number : 106 Question Id : 630680221044 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DX BT AES 850’ arNorP, 2OE TSNS 2(Se BT, 3O JOTOR GTF0S SHOMe
19925065 50 TBEY & oW DT VOISO (3% 20¢0&?

Options :

1. % °6¢3 HoZ.o0 T

2. % e85, 5 HBAM B0 DOZ.0 F°

3. ¢ HOTTr0HE T°F OO (MVETFDSYD 7o

4. % 079 @0DSHQ), 3H D0F.00 0OBAN DEeroiHed SO F°

Question Number : 107 Question Id : 630680221045 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the state-wise ranking on NITI Aayog’s Health Index Score (2019-20), Telangana ranked amongst the 19 larger states in
terms of the overall performance in 2019-20.

Options :
1. % Third
2. # First
3. ® Fifth
4. # Sixth
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Question Number : 107 Question Id : 630680221045 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D& (NITI) esTBrh e85 SrDE )6 (2019-20) T°(F TEMT OB T°5080 (DS°G0, 20192065 RNH0 HABS HSo™
19 D& o7 aroeS 80mes T°50500 FOOA.

Options :

1. ¢ 80585

2. % (DS

3. % 08

4. % 885

Question Number : 108 Question Id : 630680221046 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the Nizam era, a regular and efficient judicial system was introduced in Hyderabad State by , the Prime Minister of
Hyderabad State (1853-83).

Options :

1. % Sir Salar Jung

2. # Mehr Chand Mahajan
3. # Mirza Yar Jung

4. # Mir Ghazi ud-din Siddiq

Question Number : 108 Question Id : 630680221046 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Q2320 50" 33eIT°2rE T (I S00E (1853-83) 2,8 (500 08050 DePXS0S TS 5O 3530
(DSFDET.
Options :

1. % 30 rerd 2300

2. % DD 08 023

3. % 000 aSeb 230h

4. % 08 508 &H-OS VAT

Question Number : 109 Question Id : 630680221047 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following wrote the book named October Coup?
Options :

1. # Osman Ali

2. # Qasim Razvi

3. ¥ Mohammed Hyder

4. % Vallabh Bhai Patel

Question Number : 109 Question Id : 630680221047 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

525 DRH50 O HATA), 80A FOE DSS T-FS?
Options :

1. % &S @O

2. % 200 8238

3. ¥ Z05508 3766

4. % 302 HVS

Question Number : 110 Question Id : 630680221048 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An ancient art form popular among the of Telangana is Chindu Bhagavatham, performed in temples and other religious festivals.
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Options :
1. # Bodo sect
2. ¥ Madiga sect
3. # Ghasiya sect
4. # Nayadi sect

Question Number : 110 Question Id : 630680221048 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO S’ DV TOBS HT S E&B0 DO 27963650, BTN DO RS 0SDB TS
DOHDOES [H80T9BS0E.

Options :

1. % & S%o

2. ¢ 336K S80

3. % JZrO%r S0
4. % SO $B0

Question Number : 111 Question Id : 630680221049 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Six friends are sitting around a circular table facing the centre. Sonam is between Subham and Suresh. Sania is between Sameer and
Subhash. Suresh is sitting to the immediate right of Sameer.

Which of the following statements are true based on the above conditions?
A) Subhash is sitting to the immediate right of Subham.
B) Sania is to the immediate left of Sameer.

Options :

1. # Aonly

2. % Bonly

3. % Both A and B
4. # Neither A nor B

Question Number : 111 Question Id : 630680221049 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SEHDE AN 2,8 HYTTSE 2D THEY® TO(TEDSND O S50 )7 0. (02563 03O0 TR © 03§ Feded
&) &0, QoD HOAN 23R © 305 PO &) K. DadB8 B89 F0B IS 0T 70 )7), 5.
2 2B SISO 08 TS D 2307

A) DBSHE $5 9 5B BHS erD ETH 1T, .

B) Da08%0 860 350 SIS A S0&.

Options :

1. % A S>(¢hadd

2. % B 05

3. % A OB B Body

4. % A5 BB 5RO 520

Question Number : 112 Question Id : 630680221050 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seven friends, Sayed, Asim, Bilal, Danish, Faisal, Junaid, and Hamid are sitting in a straight row facing North.
Bilal is sitting second left to Danish. Danish is sitting third left to Hamid. Bilal and Sayed are not sitting at either end of the row. Faisal is
the immediate neighbour of Junaid. Junaid is sitting second left from the right corner.

Which of the following statements are true based on the above conditions?
A) Asim is sitting to the immediate left of Bilal.

B) Danish is sitting to the immediate left of Sayed.

C) Hamid is sitting at the right corner.

Options :

1. ¥ A only
2. % Bonly
3.% Aand C
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4. % Aand B

Question Number : 112 Question Id : 630680221050 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DONIE, @V, DerS, AN, IS, 2TE DO sTNE €93 EHIE Y ST 2.8 SBDS’ SSTDS0POrT
S0 ) &0.

TARZ A8 D) BOCHS TS0 QeSS S0 37,850, sFVEZD ICh% R S05°¢h5 S0 T Ed Ja*), &.
DerS DB HONZE SBD TINEY & DISS” 52 €8 VIS 52 S NS, 2°FE TIEY S5 .69 S 958 DIS.
B0 D38 0 BOES TS0’ 2°FE Sty )a), 50.

2 285 SO 08 5SS DE d230?
A) DerSB) $E 9 D F) @V K0 )®) K.
B) QC0EE 58 £9 )80 R T S0 ))&
0) 308 DSBS SFNE EB0 )Y 0.

Options :

1. % A S(¢hadd

2. % B (5D

3. % A 8 C

4. % A NOAWB

Question Number : 113 Question Id : 630680221051 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Oth 5 th

Seema's rank in a class test was 1
assuming all students passed the test.

from the top and 25" from the bottom. Find the total number of students who appeared for the test

Options :
1. ® 35
2.9 34
3. % 33
4. % 36

Question Number : 113 Question Id : 630680221051 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 SEKD DOE S AT DD DOG 1055 T°$05 DAL AN 0B 2555 T°5050 FEO0N0E. DTTsDOOE
H8% &S ﬁ@@é TPEOTE 270D HEE L F523B INB0O DTsES HOWFD ERFI0E.

Options :

1. % 35

2.9 34

3. % 33

4. ® 36

Question Number : 114 Question Id : 630680221052 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If yesterday was Saturday, what day will fall on the day after tomorrow?
Options :

1. ¥ Tuesday

2. # Wednesday

3. # Monday

4. # Thursday

Question Number : 114 Question Id : 630680221052 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2,83 DY) 360 ONSVB, DEN0E & T2z SNOE?
Options :

1. ¥ oig G0
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2. % 20380
3. 8 &Fardo
4. 8 H%>S0

Question Number : 115 Question Id : 630680221053 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sourav correctly remembers that Subham's birthday is before Saturday but after Wednesday. Sashi correctly remembers that Subham's
birthday is after Thursday but before Sunday. On which of the following days does Subham's birthday fall?

Options :

1. # Saturday
2. ¥ Friday

3. # Thursday
4. # Sunday

Question Number : 115 Question Id : 630680221053 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

02 HEIF23° QTG0 SNON 5°Q) 20RATB0 S0°5eh Q) PSS HOT KS0ER B . 250 HESes
BBITEO ST §¢b 5°0) QTG0 N0 @ 372 BT HATENET) . 80O O Fard 0250 HEIT 23 SNHOE?
Options :

1. % 3Qa80

2. HE>S0

3. % (Hoardo

4. % 3080

Question Number : 116 Question Id : 630680221054 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be
at variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statement I: No lotus are lilies.
Statement I1: No lilies are roses.

Conclusion I: No lotus is a rose.
Conclusion II: Some lotus are roses.

Options :

1. # Only I follows

2. % Only II follows

3. % Either I or II follows

4. # Neither I nor II follows

Question Number : 116 Question Id : 630680221054 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

AR [(HEESD B0 BT 2B 9550, FEBLIOMT BV FRQT O 8 0T EJDN ) D )e38
EEISOES’ B 5B DSFTTR), Q23s0 27D BD I (DEEIIOD & ST &8y E0MT e HOOFTI®
QBon0B0&.

DEOS I: 080 O ODexn 525,
DS 11 ODexn D herden 5°¢.

B0S0 I: 08 DE Herd) 5°¢%.
SN0 II: §) ehSen herdexn.

Options :

1. % 130953 @008 N0H

2. % 1 30050 @080

3. ¢ 1 B0 11 00800

4. % 150 S 11 5% DA 00080750
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Question Number : 117 Question Id : 630680221055 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following Venn diagram shows the number of people using different devices in a city. Find the number of people

who use only | device.

/)

83
Tablets

Options :
1. % 236
2.9 221
3. % 206
4. % 105

Question Number : 117 Question Id : 630680221055 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 DA Do DIG0ES” DDE HOEST LD EDOIFNRAY IV DO DIPLI0G. 1 DBSTPDY G &:003°Nodd
DSV DoAY Sl o,

Tablets

Mobiles - ¢36aeaden, Laptops — @5§°@, Tablets - A ATAY)
Options :
1. % 236
2.9 221
3. % 206
4. % 105

Question Number : 118 Question Id : 630680221056 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many 5's are there followed by 6 but not preceded by 4?

3532174569756132875138325674555620454463
Options :

1.¥3

2. %2

3. %1

4. % 4

Question Number : 118 Question Id : 630680221056 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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6 8 50 5% &0, 5°Q) 48 500N B 560 DY, Ee36Y?

3532174569756132875138325674555620454463
Options :

1.¥3

2. %2

3. % 1

4. % 4

Question Number : 119 Question Id : 630680221057 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Marks obtained by the six students of a class, M, N, O, P, Q, and R are mentioned. M scored more than Q but less than N. P scored more
than O who scored more than R. R scored the least.

Which of the following options shows descending order of their marks?
Options :

I.#¥ N>M>P>Q>0>R

2.8 N>Q>M>P>0>R

3. 9N>M>Q>P>0>R

4. # N>M>Q>P>R>0

Question Number : 119 Question Id : 630680221057 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

M, N, O, P, Q s08050 R @ 2.8 5353’ 3505 DeTsen G0 S350 8 5500, M €9 Desd Q
E0T) DB 5P N 0T 6580985 35°503, %0 RPQOTT. P @90 s R 0T B0 X5°5030 Q0D 0 $0
8023 8357802 PEOTTE. R 963 530703 63578020 PO K.

808 & DONE 3O 377503 SEETED (EXTRY, TR eBI0E?

Options :

. N>M>P>Q>0>R

2.8 N>Q>M>P>0>R

3.9 N>M>Q>P>0>R

4. # N>M>Q>P>R>0

Question Number : 120 Question Id : 630680221058 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among seven friends X, Y, Z, A, B, C and D; Y is elder than only four other friends. Z is elder than A. X is elder than C. B is elder than
one person only that is D who is the youngest among all friends. Y is elder than X.

Which of the following statements are true based on the above conditions?
A) Z is the eldest friend.

B) Y is the second eldest friend.

C) A is not the youngest friend.

Options :

1. # A only
2. % Bonly
3.9 Aand C
4. % Aand B

Question Number : 120 Question Id : 630680221058 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
X,Y,Z, A, B, C 8350 D €93 Q000 ) are0e6S’; 35S 90 287800 0T Y DT, A $0T Z 0ParE.
C $0%) X YT, D) 2083 D9 B D 0T Sr(evad B Q0. X 50T Y 0Pa3Sd.

2 2SSO SFSE0M 80 (DELIOS’ DO Jes0?
A) Z ©0HBET™) DX Y0
B) Y B0 8 R 3780,
C) A @0BBET) DI, ) a4 5°¢%.
Options :
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1. % A Sr(had
2. % B (5D
3. 9% A D8O C
4. % A O B

Question Number : 121 Question Id : 630680221059 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a certain code language, 'TRAIN' is written as '57', PANTHER' is written as '75".
Based on the given coding, match the following:

WORD CODE
A. CAMERA 1.42
B. LAMINATE 2.38
C. SICK 3.67
D. DOVE 4. 35

Options :

1. % A-1;B-3; C-2; D4
2. % A-3;B-4; C-2; D-1
3. % A-4; B-3; C-2; D-1
4. % A-4;B-2; C-3; D-1

Question Number : 121 Question Id : 630680221059 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
208 DD EE wres’, TRAIND 57 00, PANTHERD 75 €99 gralP .
RN EE& estroorr, 806 PO 26 DOt

Do e

A . CAMERA 1.42

B.LAMINATE | 2. 38

C. SICK 3. 67

D. DOVE 4. 35
Options :

1. % A-1; B-3; C-2; D-4
2. % A-3:B-4: C-2; D-1
3. % A-4; B-3; C-2; D-1
4. % A-4:B-2: C-3: D-1

Question Number : 122 Question Id : 630680221060 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, '137" is written as 'belts are shining', '478' is written as 'shining stars revolve', and '819' is written as 'planets are
round'. What is the code for the word 'are' in that language?

Options :
1.¥1
2.% 3
3.% 8
4. %9

Question Number : 122 Question Id : 630680221060 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 A0Q §& 2370, '137'Q 'belts are shining' @), '478'Q 'shining stars revolve' € s08A50 '819'Q 'planets are round' e
L. €8 2SS ‘are’ @R DS EE De3?
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Options :
1. % 1
2.%3
3.%8
4. %9

Question Number : 123 Question Id : 630680221061 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dev walks 30 km towards the South. He turns left and walks 50 km. He again turns left and walks 30 km. Finally, he moves 30 km after
turning to the left. How far is he from his starting position?

Options :

1. ¥ 50 km
2. % 70 km
3. % 20 km
4. % 40 km

Question Number : 123 Question Id : 630680221061 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B @3 358 98690 B 30 km SATTCR. €5 )9 o) 38R 50 km ST, €965 209 A5 J)EL 380 30 km
SETTE. VIS, €5 ¢S Y0 BOAS TS 30 km SATCR. (BFE025 90 OB €9¢5% DOeh (SrBocS’

Goo) C?

Options :

1. # 50 km

2. % 70 km

3.4 20 km

4. % 40 km

Question Number : 124 Question Id : 630680221062 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster and
the fourth letter-cluster is related to the third letter-cluster.

ISIS : IRIR :: STIR : ISSQ :: TILL : ?
Options :

1. ® LHTJ

2. % LHTK

3. % LTHJ

4. # LTKH

Question Number : 124 Question Id : 630680221062 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 €98 5-0e07°53°0 F¢I¢E3 €98 B-Ds05°E8 02000 DO DB TS €& B-DeITeT0 ¢ ©F 8-
D0 H0220E0DS DO 23S €8 B-H00Ts3IE H020E0DS DODE DOTHEOA.

ISIS : IRIR :: STIR : ISSQ :: TILL : ?
Options :

1. % LHTJ

2. % LHTK

3. % LTHJ

4. % LTKH

Question Number : 125 Question Id : 630680221063 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Consider the following pairs and choose the pair which matches the given relation.
Profession  Instrument
A. Doctor : Stethoscope
B. Professor : Anvil
C. Judge : Gavel
D. Blacksmith : Hammer

Options :

1.% A,BandC
2.% A, Cand D
3. % Aonly

4. % D only

Question Number : 125 Question Id : 630680221063 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 300 2BV DBABOD PND VoWOTEIS 20D 2650 JocEod.
e - DOSCo
A DD - PBTYD
B. e5erded - o=rid
C. rgomarg - oo
D. €018 - 7063

Options :

1. % A, B 8aAsw C

2.9 A, C B3N D

3.8 A (S

4. % D S(¢had

Question Number : 126 Question Id : 630680221064 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The question below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
provided in the statements are sufficient to answer the question. Read both statements and answer.

Question: What will be the day on 15! February 2025?

Statement I: 315 December 2024 will be a Sunday.
Statement II: Independence Day and Raksha Bandhan will fall on the same day in year 2025.

Options :

1. ¥ I alone is sufficient while II alone is not sufficient
2. % II alone is sufficient while I alone is not sufficient
3. # Both I and II together are sufficient

4. % Neither I nor II is sufficient

Question Number : 126 Question Id : 630680221064 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

30316 208 19%) 0O Q) 180CS T OO IT €95 BOCK DOPSS BOCH (DFEISEN Qe SDBOW. (350 S
DITES0 RS LTS (LIS DI DSFPTTB0 DEFS0E SE N Yoo wd. BO (DFEISD HED
DTS00 QI 508.

9% 1 D258 20258 3T Fez DE?

DS T: 31 &R0 2024 SATB0 €96)eD08.
SIS TI: 2025 H0H5 IS0’ 85055 s S Y650 BN T°D) DB 2.8 ez ST 0.

Options :

1. ¥ 1 5005330 DONH0E @900 I $37°(¢h 30 DO
2. % 1 30533 OO 90N I S7°(¢h a0 DO
3. % 108050 I ok O SOeow
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4. % 150 SO 11 5% DO SO

Question Number : 127 Question Id : 630680221065 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The question below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
provided in the statements are sufficient to answer the question. Read both statements and answer.

Question: Five cousins are sitting in a column. Who sits in the middle?

Statement I: Nasim sits exactly in between Sahid and Mustafa.
Statement II: Iman and Imad occupy extreme positions.

Options :

1. # Talone is sufficient while II alone is not sufficient
2. # II alone is sufficient while I alone is not sufficient
3. ¥ Both I and II together are sufficient

4. # Neither I nor II is sufficient

Question Number : 127 Question Id : 630680221065 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (0% 2,8 15%), S00a50 Q) 180CS T sBC5W 1T @95 BOE DOPES BOC (DEEINEN R SDT°0W. (3,50 $AS
DXPES0 8558 (DEEIOS 3D Y D3P B0 HBFH0E SE S AGooT). BO (DEEISOD A
QPGP0 Q5 5085.

199 1 28 SSB06S° 0CMHBD FEIBEN (58S Y) ST I, 0. a5 BB )5 E DedB0?
DEES I: HOTP e 50050 S0V 50655 S50 § 37 0.

1IBEIS IT: RITS S0OA5N RSTE 2 €9¢850¢H DSBS ey K.

Options :

1. % T 3o OOFB0E 00N 1T 5| eh a3 DO

2% 11 AT DO 00E 1 S¥(S D SO

3. ¢ 108A%W I BOcr O SO 0N

4, % 150 B 11 5°Q D& SO

Question Number : 128 Question Id : 630680221066 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

In this question, a statement has been given followed by two courses of action numbered I and II. Assuming that all information in the
statement is true, analyse the actions together and determine whether any of them logically and definitely follow(s) from the information
given in the statement.

Statement: The sales of mobile X of company Y have reduced considerably causing great concerns to the company.

Courses of Action:
(I) Company Y should immediately shut down all processes related to product X.
(IT) Company Y should analyse the market scenario and make a proper study of the rival products already existing in the market.

Options :

1. # Only I follows

2. Only II follows

3. # Both I and II follows
4. # Neither I nor II follows

Question Number : 128 Question Id : 630680221066 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 0.0

Correct Marks : 1 Wrong Marks : 0

&3 (0%, 10805 I HOWEES EAS B t3B5OS 2,8 1DEEIS B SDB0A. (HEHIOS' IS0 HSTT S0
Q230 27O, TS5 EO DFN0TIOE SDBASN (HEEISES BN Y DXFTB0 0B ¢3S’ VT &6y o
BN DD YBOTT eHIENOE/ T ALONOH0E.

18ES: DO Y TBwE), tHBTES X €953025°e0 HeaODOMT 5(3cs0 HONE B oS HS EORATF0R.

285 |Eadoad:
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1) DO Y $E 03D &8 X8 H020H0NS @) (DECHO esIASTE.
(ID) HORQ Y $7°8y €5 EHD DFN0D), S8 @DIESE &), 56550 551 HO0D OB 95500590 TOSTd.
Options :
1. % 1357533 @000
2.9 11 35 @B N0H
3. % 10805 I BOr 9008 0w
4. % 152 B 11 5°Q O 90080t

Question Number : 129 Question Id : 630680221067 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following pie chart shows the mumber of graduates from XYZ University in different subjects. If the total number
of graduates were 45,000, then find the difference between Mathematics and History graduates.

Graduates

Options :
1. ¥ 5400
2. % 4500
3. % 6000
4. % 5500

Question Number : 129 Question Id : 630680221067 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 300 D @ XYZ D3DERo0d0 Aod DG FTrjodanod’ HHSBEII 020 DDA, 0G0 DL
03 45,000 €008, (icdo BT SBG DYLEPO BVE) ST ST Dol

Graduates

Graduates — KJ%}J&.‘@J&D, Accounts - e::é"oéSD, Mathematics — ¢iedédo, History — <3863, Science — Dgae"@o, Economics -
efgs %'D:[_go
Options :
1. ¥ 5400
2. % 4500
3. % 6000
4. % 5500
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Question Number : 130 Question Id : 630680221068 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following bar graph shows the number of employees in Firm X and Firm Y in 5 years. Find the total number of
employees in Firm X and Firm Y in 2018 and 2019.

mFimX ®=FirmY

Number of Employee
8
&

s 018 n0 02 mi

Years

Options :
1. % 2860
2. % 3210
3.9 2740
4. % 2820

Question Number : 130 Question Id : 630680221068 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S0d 50}, B> DGAW 5 DodSTroS ©0% X andoin Do Ye5°D e85 Doayan oediood. 2018 andoiw 201985
20R X 00030 oY Y&°D g0 &8§he Dojrd STl

BFirmX ®FirmY
1300 -
1050
i - 1000
: - 0
g 820 90
5 w00
5 [22]
] 560
i 450
E 400+
=2
2
200 -
s 2018 020 021 2
Years

Firm X - 20 X, FirmY - 00 Y, Number of Employee - &6 §0© Doadf, Years : 0SNG0

Options :
1. # 2860
2. % 3210
3.9 2740
4. % 2820

Question Number : 131 Question Id : 630680221069 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

She was only child who had been very welcome.
Options :

1. % an

2.% g

3. ¢ the
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4. # No article

Question Number : 131 Question Id : 630680221069 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

She was only child who had been very welcome.
Options :

1. ® an

2. % 3

3. ¥ the

4. % No article

Question Number : 132 Question Id : 630680221070 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

One of most appealing things about Leena was her confidence.
Options :

1. ® the, a

2. % a an

3. % the, no article

4. ® no article, the

Question Number : 132 Question Id : 630680221070 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

One of most appealing things about Leena was her confidence.
Options :

1. # the,a

2. % a an

3. % the, no article

4. ® no article, the

Question Number : 133 Question Id : 630680221071 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

I tried very to teach her my sign language.
Options :

1. # hardly

2. % hard

3. % hardness

4. % hardest

Question Number : 133 Question Id : 630680221071 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

I tried very to teach her my sign language.
Options :

1. # hardly

2. % hard

3. ® hardness

4. ® hardest
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Question Number : 134 Question Id : 630680221072 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Asha Bhosle was honoured the Dadasaheb Phalke Award in 2000.
Options :

1. ¥ with

2. % by

3. % of

4. % for

Question Number : 134 Question Id : 630680221072 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Asha Bhosle was honoured the Dadasaheb Phalke Award in 2000.
Options :

1. ¥ with

2. % by

3. % of

4. % for

Question Number : 135 Question Id : 630680221073 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. They are too young to fly.

B. No one which is good at making excuses is also good at making money.
C. I walk us to the nearly wall.

D. Her courage surprise everyone.

Options :

1. % Only A,Band C
2. % Only B

3. % Only A and D

4. % Only B, C and D

Question Number : 135 Question Id : 630680221073 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. They are too young to fly.

B. No one which is good at making excuses is also good at making money.
C. I walk us to the nearly wall.

D. Her courage surprise everyone.

Options :

1. % Only A,Band C
2. % Only B

3. % Only A and D

4. % Only B, C and D

Question Number : 136 Question Id : 630680221074 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. Some short stories come with illustrations.
B. We have finite amount of willpower that becomes depleted as we use It.

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 59/66



22/05/2023, 13:04 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

C. The government is trying to promote stability and economic growth.
D. I slip my phone on my bag.

Options :

1. ¥ Only Band C
2.9 Only D

3. % Only A and D

4. % Only A,Cand D

Question Number : 136 Question Id : 630680221074 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the four sentences given below, identify the sentence(s) with a grammatical error.

A. Some short stories come with illustrations.

B. We have finite amount of willpower that becomes depleted as we use It.
C. The government is trying to promote stability and economic growth.

D. I slip my phone on my bag.

Options :

1. # Only B and C
2.9 Only D

3. % Only A and D

4. % Only A,Cand D

Question Number : 137 Question Id : 630680221075 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the simple past tense.

A. I called my mother yesterday.
B. She had already spoken to me.

Options :

1. ¥ Only A

2. % Only B

3. # Both A and B
4. ¥ Neither A nor B

Question Number : 137 Question Id : 630680221075 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the simple past tense.

A. I called my mother yesterday.
B. She had already spoken to me.

Options :

1. ¥ Only A

2. % Only B

3. # Both A and B
4. ¥ Neither A nor B

Question Number : 138 Question Id : 630680221076 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the present perfect continuous tense.

A. They have been gardening for more than three hours.
B. John has been living in my apartment since 2012.

Options :

1. ¥ Only A

2. % Only B

3. # Both A and B
4. # Neither A nor B
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Question Number : 138 Question Id : 630680221076 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence with the correct usage of the present perfect continuous tense.

A. They have been gardening for more than three hours.
B. John has been living in my apartment since 2012.

Options :

1. % Only A

2.4 Only B

3. # Both A and B
4. % Neither A nor B

Question Number : 139 Question Id : 630680221077 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

I don't need to tell you my reason, ?
Options :

1.¥ dol

2. % hadl

3. % hasn't I

4. ® does me

Question Number : 139 Question Id : 630680221077 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

I don't need to tell you my reason, ?
Options :

1.¥ dol

2. % hadl

3. % hasn't

4. ® does me

Question Number : 140 Question Id : 630680221078 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Everyone wanted to celebrate her birthday, ?
Options :

1. # doesn't them

2.+ didn't they

3. ® hadn't they

4. ® won't them

Question Number : 140 Question Id : 630680221078 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option to fill in the blank.

Everyone wanted to celebrate her birthday, ?
Options :

1. ® doesn't them

2. % didn't they

3. ® hadn't they

4. ® won't them
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Question Number : 141 Question Id : 630680221079 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

They sew clothes.

Options :

1. # Clothes have been sewn by them.
2. ® Clothes are sewn by some.

3. # Clothes were sewn by them.

4. ¥ Clothes are sewn by them.

Question Number : 141 Question Id : 630680221079 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

They sew clothes.

Options :

1. # Clothes have been sewn by them.
2. # Clothes are sewn by some.

3. # Clothes were sewn by them.

4. ¥ Clothes are sewn by them.

Question Number : 142 Question Id : 630680221080 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct active form of the given sentence.

By whom this food was ordered?
Options :

1. ¥ Who orders this food?

2. ¥ Who ordered this food?

3. ¥ Who had ordered this food?
4. % Who got ordered this food?

Question Number : 142 Question Id : 630680221080 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct active form of the given sentence.

By whom this food was ordered?
Options :

1. ®¥ Who orders this food?

2. % Who ordered this food?

3. ® Who had ordered this food?
4. # Who got ordered this food?

Question Number : 143 Question Id : 630680221081 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following:

A | Below the belt 1 | To provide exact information

Cost a bomb

g

Cruel and unfair

Very expensive

B
C | Down the drain
D

B ow

Give chapter and verse Spoiled or wasted

Choose the correct option.
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Options :

1. ¥ A-2,B-3, C-4, D-1
2. % A-1,B-3,C-2, D-4
3. % A-3,B-1,C-4,D-2
4, % A-4, B-1,C-3,D-2

Question Number : 143 Question Id : 630680221081 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Consider the following:

A | Below the belt

1 | To provide exact information

Cost a bomb

(B

Cruel and unfair

Very expensive

B
C | Down the drain
D

Give chapter and verse

g

Spoiled or wasted

Choose the correct option.

Options :

1.+ A-2,B-3,C-4, D-1
2. % A-1,B-3,C-2,D-4
3. % A-3,B-1,C-4,D-2
4. % A-4,B-1,C-3,D-2

Question Number : 144 Question Id : 630680221082 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Consider the following:

A | Have a yellow streak | 1 | Spending more money than you earn
B | In black and white | 2| In writing

C | In the red 3| A trait of cowardice

D | Lose heart 4| To become sad or depressed

Choose the correct option.

Options :

1. % A-2,B-1,C-4,D-3
2. % A-1,B-3,C-2,D-4
3.% A-3,B-2, C-1,D-4
4. % A-4,B-1,C-3,D-2

Question Number : 144 Question Id : 630680221082 Option Shuffling : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Consider the following:

A | Have a yellow streak | 1 | Spending more money than you earn
B | In black and white | 2 | In writing

C | In the red 3| A trait of cowardice

D | Lose heart 4| To become sad or depressed

Choose the correct option.

Options :
1. ¥ A-2,B-1,C4,D-3
2. % A-1,B-3,C-2, D-4
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3.4 A-3,B-2,C-1,D-4
4. % A4, B-1,C-3,D-2

Question Number : 145 Question Id : 630680221083 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of synonyms.

A. Blend : Fusion

B. Lean : Slim

C. Purity : Evil

D. Wealthy : Gigantic
Options :

I. % AllA,B,CandD
2. % Only A and B

3. % OnlyBand C

4. % Only Cand D

Question Number : 145 Question Id : 630680221083 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of synonyms.

A. Blend : Fusion

B. Lean : Slim

C. Purity : Evil

D. Wealthy : Gigantic
Options :

1. % AllA,B,CandD
2.% Only A and B

3. % OnlyBand C

4. % Only Cand D

Question Number : 146 Question Id : 630680221084 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of antonyms.

A. Spacious : Cramped
B. Accuracy : Fallacy
C. Nasty : Laudable

D. Profusion : Quantity

Options :

1. % AllA,B,Cand D
2.% Only A, Band C
3. % Only B

4. % Only Cand D

Question Number : 146 Question Id : 630680221084 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of antonyms.

A. Spacious : Cramped
B. Accuracy : Fallacy
C. Nasty : Laudable

D. Profusion : Quantity

Options :

1. % AllA,B,Cand D
2.% Only A, Band C
3. % Only B

4. % Only Cand D
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Question Number : 147 Question Id : 630680221085 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the sentence(s) with no spelling errors from the given sentences.

A. Believe it or not, but I am absolutely yours.
B. I jump behind a large speaker as he turns his head to look around.

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. # Neither A nor B

Question Number : 147 Question Id : 630680221085 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors from the given sentences.

A. Believe it or not, but I am absolutely yours.
B. I jump behind a large speaker as he turns his head to look around.

Options :

1. % Only A

2. % Only B

3. % Both A and B
4. # Neither A nor B

Question Number : 148 Question Id : 630680221086 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors from the given sentences.

A. Getting extraordinary results is all about creating a domino effect in your life.
B. Reports have flaged how use of over 85% fresh water in agricultre has led to a crisis in several states.

Options :

1.+ Only A

2. % Only B

3. ® Both A and B
4. # Neither A nor B

Question Number : 148 Question Id : 630680221086 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence(s) with no spelling errors from the given sentences.

A. Getting extraordinary results is all about creating a domino effect in your life.
B. Reports have flaged how use of over 85% fresh water in agricultre has led to a crisis in several states.

Options :

1.+ Only A

2. % Only B

3. # Both A and B
4. # Neither A nor B

Question Number : 149 Question Id : 630680221087 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I thought maybe you could someone to help me.
Options :

1. # higher

2. % hire

3. ® heir
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4. ® hare

Question Number : 149 Question Id : 630680221087 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I thought maybe you could someone to help me.
Options :

1. ® higher

2. % hire

3. ® heir

4. # hare

Question Number : 150 Question Id : 630680221088 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

the sponge into the pulp tub as you go.
Options :
1. ¥ Wreath
2. % Ring
3. % Wring
4. % Reap

Question Number : 150 Question Id : 630680221088 Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

the sponge into the pulp tub as you go.
Options :
1. ¥ Wreath
2. # Ring
3. ¥ Wring
4. % Reap
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